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Two word verbs Sl 4l 95 sy =8

S ol dgeme Lyl gl 55 Mol s OS5 4 a5 (gl aalST g el
besos LT (Sline 5 axils (gol5,1 3 oo spin a5 0T o sled @ LI jide &K 5 b
45 p93 it el 4 b STl AT el s w0 T el e 0T )
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Two word verbs — also known as expressions — are expressions made up of a
verb and another morpheme whose meanings are not denotated by the

meanings of the parts composing them . Regarding their second part , these

expressions are classified as “seperatable” and “unseperatable” expressions .

Sy Job oK b LS 5 ol 6 edis LSS Sl 1 Sl I la ST 5 — Ll
6T om L1550 (ol 6 0l gd 5 0350 Sl I Jod 51 oS ol LS O >~

3,8 1A

A - Seperatable expressions: These expressions are composed of a verb and a

preposition between which no noun phrase can stand.

Examples: look for (55 setues look at 03 5 o

Logas 45— BlSl e i 5 5 b G Sl s oS5l Gd e gl oS ST o
A T Ol dilg o dsdoms ol b o)l 5 o |5 — Lyls ud LiE

LS
B — Unseperatable expressions: These expressions are composed of a verb

and a particle between which a limited noun phrase can stand.

Examples: puton oAb

write down  xb g



" o 05 o s 51 S 05 4 A
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Lad b Ods ol e b g azdll (63,55 olel 4 a5 ds ols 4udS s ouS” wuis

DS le b e diS WA oy 5 L ST e eS|y LT Ol Sl i

Intensifiers are the words accompanying adverbs and adjectives to intensify
their degrees. Intensifiers are not used without adverb or adjective.The most

functional intensifiers are :

So

6W|6u°};)| M:QT)bbWA@Kd“Q#‘ ”)&T”wd“w
ol B F S e i Sl ) LI el e (A es Osly oo
...L:u\.f;.'a' u.:‘ &JQ‘?@‘)W&ﬁ)‘)M&Jﬁ)KM}J a.ll.'su\._".l.‘i.:

Dy
somany / somuch / solittle / so few

This intensifier is used with the adjectives which are not accompanied by a
noun. The sentence in which “so” is used as an intensifier is accompanied by

a complement clause as the reason of intensification.

Example: The child is so young that he can not talk .

QT U’EJ?J‘J’T J;m r.w‘ La o‘JQA W L§|j A.QJSU,L‘ bﬂ)‘{ Q)}-ﬂ )b . ;0}3
SOy el Ca il 8 s

Note: “So” if used with an adjective accompanied by a noun , will be located
right before the adjective .

Example: so good abook / so sweetan apple
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Such

LS o LliS ol (518 05 S Sl atws OT 53 1) Cldeo g Sl Sl T 4dS™ | gime
LB ol s el b oS

s 015 1) pate (6 oxls dlaz S5 5,28 dlaz )3 oS LAl oy PS5 s
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eg. suchaman / such an apple

This intensifier is used with the adjective accompanied by a noun.It can also
be used with a noun alone.A sentence in which “such” is used is

accompanied by a complement clause as the reason of intensification.

Example: He is such a literated man that you can ask him anything you like.

Too

ol S Cio b s 51 g5 88 )3 Ly cul "ol i’ aalS cpl gne
D30T Calaie JalS7 jze S5 4 48— Jab plonil OISl 457 ST (oo s (553

S o 5 e 5ok 25 0T s per w535 0 o Ol - 358
The word means “quite excessive” which intensifies the adverb or the
adjective to a degree at which the verb succeeding it in the form of an

infinitive can not take place. The word also known as a negative intensifier.

Example: The child is too young to talk .

(satia ol o Glply b slg) Cdo L WS LA S Sopep t S
B R I P G S N P ST G| g PR U S K SOy
S aler Jolb LIB 3 &S 1) dherr Jsnie b5 Sl ol 535,85 s )15 s

2308 4 jdae Sl de Sl ol
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Note: If the intensified adverb or adjective is supposed to restrict the
nonoccurance of the verb for a particular noun, the noun is inserted in a
prepositional phrase of “for”, then inserted before the infinitive. The object of
the sentence is not allowed to be inserted after the infinitive as it is
introduced by the occurance of the subject at the very beginning of the

sentence.

Example: The shoes are too small for Jack to wear .

Enough

G oy Sl o b dd e 28 5L Canl T B de " ST ol me
oS stan S8 a5 OT 51 g 457 b sl gy 45T ST o Lis (ol 03101 G 1y LT
e 5 S S Ol 4 aedST ) L5 5 53 asE s OIS AT

The word means “sufficient”, and when standing after an adverb or an
adjective, the degree of the preceding modifier is intensified to the level at
which the verb succeeding it in the form of an infinitive can take place. The

word is known as a positive intensifier.

Example: The child is old enough to go to school.
4 o S5 35,5 8 4 el b ol an oS 4 5 oo D9k 45T (S50 3 4dST
QT@)W

This word, when used before a noun alone, is considered an adjective .

Example: We have enough money to buy that car .
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Note: If the intensified adverb or adjective is supposed to restrict the
occurance of the verb for a particular noun, the noun is inserted in a
prepositional phrase of “for”, then inserted before the infinitive. The object of
the sentence is not allowed to be inserted after the infinitive as it is
introduced by the occurance of the subject at the very beginning of the

sentence.

Example: The shoes are large enough for the men to wear .

Still

o Job sl gy pdely sl 5y Jlsie 48 ol 0T Silg 035 0SS aalS” (e
)lfgdé:w\i@db):):yﬂJfﬁa\.@.lfd\.:)bg)liﬁ4:.1.1?4.3&...%5,:5

.29 <
The word denotes “as before” representing the feature in which the action

taking place in the past happens in the present without any stop. The word

stands before verbs either in the form of positive or negative.

Examples: The woman still lives in that old house .

They still don’t like to leave the city.

Any more

@idS 55 S AS o b 3lhas p IIVs 5 eng a4 OT 5 el ol e
juaéua‘,.?yCM|w;ﬂ&.g;,Aauga.a,uoTr\eu'twau@(\,gl
sl O w05 8 sl s
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The expression denotes “no longer” representing a verb which took place in
the past but no longer takes place in the present .This expression is used at

the very end of the verb phrases in negative sentences.

Example: I don’t smoke any more . ( ........... I smoked before . )

Already

ou;;t&soTﬂealJw@é,ésui”ﬂu‘:{;)@! M alST ol e
Gleslys 5 Cte la alam ;3 OT 55 515 Jous . Sl 485 &) gn il 3 40
el (ol b 5 (ST b o) ool b 5l S L g e nb o5 S

The word denotes “before” implying the occurance of a verb before the
expected time. It is used at the very end of the verb phrases or before the

main verb (between the auxiliary and the verb) in positive sentences .

Example: We have finished their homework already.

They already have an expensive car.

Yet

Ja.'a:hb"})(a.\.oﬁdY:Gé:ngLaAL«.?)::ﬁ)lfl{A.fgwl”j):..a"u.lfo.:\d'm
Dosd ook G5 iy la dlex 53 aldST ol 5 8L sl Gl 546 Ol s
dax (gluml yras yet . 55y o )5 4 53 dabos S slgml 50T B 5 15 Jous

S 5B s 5

The word denotes “not till now”. It implies that the action has not taken place
by the time expected. Being used in negative sentences, and sometimes in
introgative sentences, it is placed at the very end of the verb phrase, and
sometimes in the expression “as yet”at the very beginning of the sentence.

Examples: They haven’t arrived yet .
As yet , they have not replied our application .
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Used to

plil p IV sdas (s ate) 5 S B8 SEL s Sl Bl S5 ol g
sl 0l s bl odks o plonil sle S 4 2208 0lej 53 S LS e (I
The expression which stands before the root of an infinitive implies an action

which took place as a habit in the past but now does not go on.

Example: He used to smoke cigarettes. [ He doesn’t smoke

cigarettes now. )

Be used to

JSo 4 0T plail 7 3505 ()7 5 Vs 5l Tepils Conle” LS5 ol psgle
oo D3le e e,
IS 4 S 5 ol 3l e e ol b Sy gen . 5,8 ing L

This expression denotes “a current habit” of doing a rutine action. The verb

after this expression is used in “ing” form.

Example: I am used to getting up early in the morning.

Get used to

S °258) C,E} oS 3yl )8 Cl"d‘j SV 5l 0 8 Csle” ST 5l U*‘“
cwling Ko 4 S 5 ol 5l dn ol Jab Sy g0 03,8 o Sy g 0T 3 0T
This expression implies a habit which does not currently exist but is supposed

to take place in future. The verb after this expression is used in the form of

gerund (“ing” form).

Example: You should get used to getting up early.
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Had better

ol el 3,8 e 1B stan s ) 1 B 5 ey ol g S5 ol psee
B ISl e s e S a1 T L 5 03 il oSS Kus 51 S 5
.:J{)KA{J.;)‘J%;}?)JK

The expression means “it’s better that”. It stands before the root of an
infinitive .The components composing this expression are unseperatable, in

other words, the expression is fixed with a definit meaning.

Example: You had better answer his question .

Would rather

s 5 akey b s 5 (10) ol 05,5 b o &S ol "0313 e 5T S 5l p pgie
Sl Lol en

-UJ@)K‘V

The denotative meaning of the expression is “to prefer” which stands either
with a noun phrase (with the relevant preposition “to”) or an infinitive

without to.

Examples: I would rather tea to coffee.

I would rather go on a picnic.



Jsl Jod A

Present and Past participles G 9 Lol s cao

.c,..ﬂ\up\;'-k;w!;\,\i”"},.;q@@bg};u@ﬂ&u

Present and past participles are those participles whose meanings basically
originate in verbs and their existence somehow depends on the occurance of

particular verbs.
DS w5 g aher 4
The wolf terrifies the children. il gy e aom L5

L Sl ”Jb;@”wﬁjdﬁiﬂ"hqu”}"&\é"df;ww‘):

In this sentence, “the wolf” is the subject, “the children” is the object and

“terrifies” is the verb .

ool Jobb o LT (oo oy (Ol i = Job plail 1) e Jobb )3 &7 Al
Ugriays o8 (Alos (LT (o Cows @ Job (g alyy 4INZ Lguy 035531 L 5) ok
odeal Jsmin Cio LT o Ly (O 5 = b 30 Cowd 0D &l S ke

(AT oo s @ Jrd iy 4 ed” gy 03931 L oo B L Jladl 5, 50 )5 9).3 55 o

The feature appearing in the subject (due to the verb-terrify) is termed
present participle (which is made out of the root of the verb attached with
the suffix “ing”) and the feature appearing in the object (due to the influence
of the verb - terrify)is termed past participle ( which is made out of the root

of the verb attached with the suffix “ed * for the regular verbs ) .
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The wolf is terrifying . ol yyT iy K E
The children are terrified . cles 03y Sl g W don

Cdo ol 6 Wlal oo Lol ea |y (Jerie Cio fule Ol 0 DBl I 65l

3,5 S 0T 5l s 5 Jprie

Most of the times , the subject of the past participle can be mentioned along

with the past participle by the help of a particular preposition .

The children are terrified of the wolf . LAl Sl g dfjf 3l ao

Reduction of complement clauses to phrases o Jf @ sas S o)l dhax 2alS

Jo g sl L gyl el ¢ @il Sl g 5l (ST Obej S ol oyl alax

Mc}fﬂ&ﬁ\f&gﬁ)cﬁm@|

Clauses whose tenses are either past continuous or past perfect can be

reduced to a phrase as the following:

A Jeb 05y LSS by ket gl jetal ¢ 208 Olej glyls s o)ly ale — I
OJ}.:J:.%L;‘JMJJ.G\éb'ﬂf.haqbéwbwwbjéw OJ‘}‘J.Q}:))

el ls s ool dher b e on (2 8 Lo oo ST 550 e ol

A - Clauses with past continuous tenses : In case that the subjects of both
clauses are the same ,the conjunction of the dependent clause along with the
subject and the verb “be” are deleted , the remaining is the phrase with the

same meaning and the same application as the relevant dependent clause .
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Example: While I was walking in the park, I saw my friend .

Clause reduced to a phrase: Walking in the park, I saw my friend .

}>,AJ;\;QJ},.QL“&MJ@,:¢:JA\§6m.’\foujdbuduwt,w - o
LQA.QJS\VL‘L:\QUA.LQ.?-

ﬂMQTj‘M)oMJJ&M‘}&@)‘)M&BQ:‘,«AW@)
.JJJ@JKQJBMMJAKGQK

B- Clauses with past perfect tense : In case that the subjects of both clauses
are the same , the conjunction of the dependent clause along with the subject
are deleted and the auxiliary “had” changes to “having” preceding the past

participle like the following example :

After he had learned English , he went to England .

Clause reduced to a phrase : Having learned English , he went to England .

Perceptive verbs > Jusl

Cabys 1y T 5 Lol ol ¢SaS 4 Job a8 itaas Jladl 1 azws OT s Jlad

Perceptive verbs are that group of which the subject perceives with his / her
senses .

ol ot b jdeas (6 dh ) Copgeo 33 & gy oo S @ g Jlal 1 s ST Sl IS
Verbs used after perceptive verbs appear in two forms of infinitive without

“to” and continuous form with “ing” suffix representing two different

meanings as the following :
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QTJ‘&})J&\S&JJ‘JQT}C‘JYJWd@‘)‘MJMLSWJQ)‘}*’_uM

Ll 03,87 28 s O plawil (sl 115 b

A- Infinitive without “to” after the perceptive verbs: This feature denotes that

the subject has perceived the occurance of the verb from the very beginning .

Example: I was in the bus stop . Mr Brown left the shop. Isaw him.

I saw Mr brown leave the shop.

bk}ﬁ:‘.l._"j)&b‘\f:)bg).rjdy}WJBS‘)‘MJ:G&JM‘Q)}‘J—Q

el 03,8 3L s OT Osls (555 (5wl 31 aSL OT (glul 51 &

B- The continuous form of the verb after the perceptive verbs : This feature
denotes that the subject has perceived the occurance of the verb not from the
beginning , but while it was going on .

Example : Mr Brown was waiting for the bus . [saw him .

I saw Mr Brown waiting for the bus .

Modal auxiliaries e S8 sl =8

o5 ol Gla b L Ows ol e L a8 558 oo 3| (ST Jladl 1 azes OT 4 pne
o S el S 4 s Soils > 4 bl S L W 0T &) ol S
SN, 4 ol a el (6 a3 Wl S

Modals denote those auxilaries which stand along with main verbs to
influence them with the particular meanings they have .They are directly
dependent on the main verbs and can not occur in a complete sentence by

themselves.
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The most usual auxilaries are :

will/ would / shall/ should/can/ could / may / might / must /ought to
T/ Wla/ edn T/l oS Wla / sl g/ el 55 /ol Sl Sl o San L/ o

:J.Z})@)KQMéﬁéh&é\iﬂf.&ﬁjcﬁgjpjsgwhﬂ;&

Main verbs stand in two forms after the modal auxilaries as the following :
ol Wl (Glian ol & Cpme (S8 b U GT ol et jdias (g 4y K0 — Ll
Syl el T Ol &IYs
A — Infinitive without “to” : Regarding the meaning of the modal , the verb
represents a future tense .
Examples : They will apply for the visa . 23S Ll s Sl g s LT
They would ask you to help them . & 3| Lls LT
C S VLSSl sl s

We shall finish it within two days . . 5 S ppls plad a5 90 e OB oT L

I should complete the painting . S QST S OT b e
I can lift that heavy box . .rlf&l{‘)wi;ddw&."rﬂjdﬁw
He could pass his exams . cosd Jed Gilleel Hs Sl gl
He can sit over there . i T (o yls o5l) Ll g5 s

You could leave the class . cd 92 09 NS (Al 3Dl s e el
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He may answer it . C s sl Ol 4 (515 ol u_i.wu 3l

She might take another piece . . 5,15 5 55 (5 45 &G (5,13 0 3b) ! e !

You must obey the rules . CAS (65 Dy e 5l AL e

He ought to return the book soon . Ll 8 1 OlS 55 b

b Gilas kol Job ol JSGo L cme (S5 b (sl e 5 b IS 0L S o

Doyl IV w38 ol o Jis

B- Modals with the perfect form of the verbs denote the past tense like the
followings :

Examples: I will have finished the job by tomorrow..¢| 03 S CL": L ol 36

He would have left there . S S Tl
We shall have arrived by tomorrow this time. c el ooy B850 pl 15 3

We should have left there earlier. 0235 oS 5T 5 LGl

He can have paid the bill . . dsb o5 8 55 5 1) Olas ) 5o Ll 5 a(OSN)
She could have forgotten the key. Aal o3 S gl 3 15 AdS axsl 5 oo sl(Jlez1)
They may have done it . LBl el plawit 1 OT ol oS LT (01

They might have broken it . il S 1 0T cal S T (Jlez>D)
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He must have visited him before . . 4ib 05,5 Sl 1 LT M3 L sl(blazwl)

You ought to have cleaned it . 835 (o g 1 OT L (el I

095 4 Jeose S oylg o> pals
Reduction of relative clauses to phrases

u‘}&ué"*ﬂ}ﬁﬂ&Jf&‘v\%‘)égé‘w}ﬁguaj‘j&o}.-j| wws OT
Pyls 10 8 Sy e a4 28T b 5 b a1 S L sl

Relative clauses initiated in a subjective relative pronoun can be reduced to a

phrase if they are in one of the following conditions :
Sl ol en gyl penal o 5 055 b b (J s 50 el ™ Al

A-The relative pronoun is succeeded by “be”and a verb attached with the
suffix“ing” .

Mbc‘ﬂéijjdafJﬂbéy}AN—u
B-The relative pronoun is succeeded by “be” and a past participle .
‘“L‘:"f°|f’“gs°“”‘°3;¢<iﬁdjﬁd’élfg;}“’fﬂ_c
C- The relative pronoun is succeeded by “be” and a noun phrase .
.s,&@;'}i\:—d:ﬁ&é\{ﬂf.&gy}»ﬂédb—wd\Jé{iJAJ:

In either of these conditions , the relative pronoun is deleted along with the

verb “be” .
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Examples: The man who is speaking English................. The man
speaking English...

The man who was seen in the forest............... The man seen in the forest...

The man who is at the door ......................... The man at the door ..........

Passive voice Jeexo 49

P lsedss (Boan b der Job T 53 o8 ol gl o 4 Lo Jgme 4
Sl sl (5 dhar & Usgmmn 5 o 2 Sle 5L 3 3 s ol oSSl
sl L Sl 0l S5 (utaza) 508 b 5 5 U smio 5 Jols S 51 31 o oS
0503 3 se Sl Uprie ol 4 (S oz 2w by pe s o S5l
Iomin &4 5 edts Jgnie 5~ Jgnin 53 Voo (S 3 87 505 0T sl

Laph g Jali |y s

Passive voice refers to the sentences in which the subject is not mentioned or
if it is , it is not located in the subject constituent.Deep structure of every
passive sentence is an active sentence in which there exist at least a subject ,
an object and a transitive verb .The number of the passive sentences out of an
active sentence depends on the number of the objects in the sentence; in
English , the number of the objects comes to two , a direct object and an

indirect object .

Jeexe 6 o> clo wnl S
The process of making passive voice

The procedur to make passive sentences out of active sentences is as the
following :
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2/ (piie 2 5 oite) Jgada | Jobb 1 sgomn amy Sl g0 (sl (e )
s/ fad Ol g

s A Job ol 55 ol I s (ofien i b its) Jpnide 22 Sl Y
NENCS

OT 513 Job 5 p oo (g oz Olj b cnline "0 5" Job O30 Y
ol Job 4 Lo Jsnde Cdo s )5 -8

by Sl e (S S8 55 0T 3 )8 e slae (5 e Jo S35 50 3 -0
ot Do 5l b b 5 LIl U8 Jspres 5o aher 531 S ol jen S srde o
28 B

\- Identification of the components of the sentence , subject , object (direct

and indirect) , verb and the tense of the verb , adverb of quality

Y- Substitution of the object for the subject in its subjective case

Y- Inflection of the verb “be” according to the subject and the tense of the

active sentence

¢- Application of the past participle of the main verb

o- To mention the agent , the insertion of the subject in object form

succeeding with “by”
Note : In passive sentences ,the adverb of quality preferably precedes the past

participle.

Example : He will give her the flower politely .
The flower will be politely given to her by him .
She will be politely given the flower (by him) .
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Conditional sentences L o

b Job & bl LT 55 o8 358 oo 48 ba abeor 3l ans 0T & (b3 (sls abesr
A.Lo:.-é45@)‘3A.Lo.?-jsj\&ﬁé&o:’-ﬁ.@|]§;>d;é¢<io:b§))g
ol (Jofl g:;\}g-) g}*’|6°)‘ﬁ"l'°’.'$‘;§}.°ﬁ(k‘r:$0‘) ahos) atusls (6 ol

35 e e S T 5555 4 0l (0 o 558 o JSCS

Conditional sentences are the group of sentences in which the occurance of a
verb depends on the occurance of another verb .Every conditional sentence is
composed of two clauses ,a dependent clause and a main clause which can be

interplaced .

P gh e 035 s 85 OGN i 1 b5 sle e
Rk OBl (b2t gl g (o )

Joime (b i ps g b Y

S b b e g5 b AT

According to the possibility of occurance, conditional sentences are

categorized into three groups as the following :

\- Conditionals type one : possible
Y- Conditionals type two : probable

Y- Conditionals type three : impossible
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Ol 5 axals SOV ol T Ol s by 5l azws 5l 2 Jol g5 S Doy
Tosle " g Tys Lo (g o)ly dhear Jab Olojucnl 3L Sl LT H> Jab O3l

el o3l (g 0du T b s Ol g (5 o)ty ala b Ole3s
Ly Ol oy ez Job g 85 OGS (b, ola dazjlaes OT 550 S5
o3l Jb- Olej 53 Lo Ol 5 b5 goyly dam 93 8 )5 Jab 0 ol abid

Conditionals type one : This type of conditionals deal with future in which
the possibility of the occurance of the verb in the main clause is high .In this
type , the tense of the verb in the dependent clause is”’simple present”, and
the tense of the verb in the main clause is “simple future” .

Note : In the conditionals dealing with regular occasions , the verb tense in

both clauses is “simple present”.

Examples : If you study your lessons , you will pass your tests next year .

If you heat water , it boils .
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Conditionals type two : This type of conditionals deal with present tense in
which the probability of the occurance of the verb in the main clause is too
little . In this type , the tense of the verb in the dependent clause is “simple
past” and the tense of the verb in the main clause is “simple future in

past”.”Were”is preferably used for all subjects in this type of conditionals.

Example : If you studied your lessons now , you would pass your tests .

If I were you , I would ask him to come .
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Conditionals type three : This type of conditionals deal with past tense in
which there is no possibility for the verbs of the clauses to occur . In this type
, the tense of the verb in the dependent clause is “past perfect”, and the tense

of the verb in the main clause is “perfect future in past” .

Example : If you had studied your lessons last year , you would have passed

your tests .
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Composite conditionals : This type of the conditional is the type in which the
present probable occurrence of the verb in the main clause is based on the
occurrence of the verb of the “if clause” in the past . This type is a
combination of the second and the third type of conditionals and is
considered as impossible type .

Example : If you had learnt French last year , you might get the job now .

Q)}—,ﬂj‘0J|)4.Lo}.-OJ;CJ‘;'-L:Ot’:@&?ﬁd‘.&c)bao}.-)}—‘ ;&\3
ol O A Sl wm g L5 S eslizal AT K pae 4 b i g 4edST e
el Cln o)) gen dha b5 (g allS



Jsl Jeet Y.

Note {- In negative clauses, “if” can be substituted by “unless” in case that

the clause changes to positive. “Unless” should be used only at the beginning

of positive clauses.

Example: You will not pass your tests if you don’t study your lessons.

You will not pass your tests unless you study your tests.
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NoteY- In dependent clauses of conditionals type three , “had” can be placed

at the very beginning of the clause to delete “if” .

Example: If you had studied your lessons , you would have passed your tests.

Had you studied your lessons , you would have passed your tests .
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Verbs after “wish” prove a condition of very slight probability or

impossibility to occur .

A-When used for present tense, the verb in the sentence succeeding it is
in“simple past”

to prove a very slight probability for the occurance of the verb :
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Example : I wish they brought the box with them .
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Note : When necessary ,“were” is preferably used for all subjects in this type

Example: I wish she were here to help us .
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B- When used for past tense, the verb in the sentence succeeding it is in “past
perfect” to prove the impossibility of occurance :

Example : I wish I had arrived a little later .
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Note : Wish can be used for very slight probable occurance of the actions in

the future using a verb in the “future in past” tense :

Example : I wish you would slow down .

Causitive voice e 49
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Causitive sentences are the group of sentences in which the subject of the

sentence is not the actual doer of the verb ; the verb whose effect of



Jsl Jeet vy

occurance is up to the subject is in fact done by someone other than the

subject of the sentence .
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Sentences in causative voice are categorized in two groups of “passive” and
EEd : 2
active” .
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A — Passive causitive : In this type , the actual doer of the verb is not
mentioned ,in fact , the receiver of the effect of the occurance of the verb is
mentioned only . The rule to make passive causitives is as the following
example:

Sentence: The barber cuts my hair every month . :

Passive causative: A= have my hair cut every month .

B=1 get my hair cut evry month.
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Note : The verb “have” in passive causitives is a main verb , and the other

verb of the sentence is used in past participle form .
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B — Active causitives : In this type of causitives , the actual doer of the verb
is mentioned after the causative verb in the object form . Here , there use of

causative verbs “get” and “have” differ grammatically :

V- After “ have” infinitive without to is used .

Y- After “get” infinitive with to is used .

Examples : I have the barber cut my hair every month .

I get the barber to cut my hair every month .

Reported speech Jed & sy do>
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Reported speech denotes the statements through which the speech of
someone else is stated ; in other words, what is stated is not the speech of the

one saying it .
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Statements of reported speech are themselves composed of two smaller

sentences :

\- Reporter’s sentence

Y- Reported sentence

25T i b I8 BT 5 ks JB 50 8 53 4 B B le aler

Reported speech sentences are categorized into “direct” and “indirect” types .
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A — Direct speech : In this type , the reported sentence directly and with no
change in the form or intonation , is reported . The reported sentence , along
with its punctuations is located in “quotation marks” . When the subject in
the “report” sentence is a direct noun and not a pronoun , and the “report
sentence stands after the “reported” semtence , the verb of the “report”

sentence may stand before the subject .
Example: The man said , “ I want you to help me with my problem in that
company .

“I want you to help me with my problem in that company . “ said the man .
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B — Indirect speech : In this type of reported speech , the essence of the report
, and not exactly the words , are reported .This type necessitates the
conversion of two sentences into two clauses , in which the “report” stands as
the main clause and the “reported” as the dependent , in which “reported”
grammatically and linguisticly proves the state of being under the domination

of the main clause, report” .

U8 s e g5 Ll e 2 U8 B 4 pditee J B B Sl dex JoiS 1
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To change a direct speech into an indirect speech , the type of the “reported”

sentence is of major appreciation .
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Types or “report” sentences:

\- imperative
Y- simple statement

Y- question ( simple or “wh” question )
Ji.&‘ddbf&"_;@&)}«.&)bﬁ‘éALw-Jaﬁa}‘/sz‘)J:‘S}ﬁ'*Js‘ 695
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Type one —Imperative : In this type , the verb of the imperative sentence is
used as infinitive with “to” ,while “please” is ignored . If the imperative is
negative , “not” is inserted right before the infinitive . Imperative or request
verbs such as “tell” ,“order” or “ask” are preferably substituted for the verb in
“report” sentence along with an object due to the addressee of the imperative

verb .

The man said , “ Leave the room immediately! “

The man told them to leave the room immediately .

She said , “ Please don’t answer the questions hurriedly .

She asked him not to answer the questions hurriedly .

el 5 o)l5 Ao S Olse 4 S s e 03 8 ol 53t S PO £
45 5 O 4 5 (D55 S D)3 33) ol S 05,5 Ol e I Slgar (5 )l
b adla)l 3 Jatee g o)ly ahexr Olge 4" & 5 0)ls 5 o (5 0l o Ol
Loy B e Olj S 550 on bl GLeSY gl Slej Gl 350 (or Gas OT
Dy gm0y cde 4 0l K U8 6 alexr Ol el pl s dil b5l LS Ol 4
8 ¢ e Olej 53 (g, Cob dl= Ol 5o |8 (g dhex Job O 0 ol b

INC NS

Type two — Simple statement : In this type , the “reported” sentence acts as a
dependent clause and is adapted to the main clause -“report” sentence - in all
aspects including tense noun phrases ( if they are the same ) , place and time
adverbs . Tense adaptiaton normally takes place when the verb in the “report”

sentence is in the past , however , if it is in a tense other than the group of the
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past tense , no adaptation in the tense of the dependent clause — “reported”

sentence — takes place .

Examples:

He said , “ I want you to help me with my problem in that company today .
He said that he wanted her to help him with his problem in the company that
day .

They said, “We will go to visit those beautiful places in that city tomorrow. “
They said that they would go to visit the beautiful places in the city the next
day.

You said , “ I spoke to my brother here yesterday .
You said that you had spoken to your brother there the previous day .
She says , “ We can stay with her until he comes back . “

She says that we can stay with her until he comes back .
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Type three — Question : This category is itself subdivided into two
subcategories :

A — Simple questions : In this group “reported” sentence is first changed into
a simple statement , then undergoes the adaptations right mentioned for the

second type . Either the word “if”or “weather” is used at the beginning of the
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dependent clause to link it to the main clause .”Ask”along with a relevant

object is used in the main clause of this type .

Example : She said , “ Do you like to stay in my house for a longer time ?”

She asked me whether / if I liked to stay in her house for a longer time .
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“Wh” questions : The procedure to make indirect speech out of
“wh” questions is the same as simple questions, the difference is in the

relative ; in this type , the “wh” word acts as a the relative .

Example: He said. “Who do you prefer to visit tomorrow ? “

He asked me who I preferred to visit the following day .

353 i i 3 JB (sl dhor 51 5 K3 g5t (oluiel JoB B (Sl o>
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Infered indirect speech : Another type of indirect speech is practically used in
discourse in which the meaning of the “reported” sentence is combined with

what the reporter has grasped from the “reported” sentence .

Examples: He says, “You had better agree with them.
He suggests me to agree with them.
She said, “You should first get a ticket! “

She ordered me to get a ticket first.
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Phonetics
The term phonetics is commonly used in two senses referring to:
a) the scientific study of human speech sounds, and

b) asystem of symbols to write words in phonetic symbols .

:.\:S@ajulr}@,é.apg@}wPhonetic
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Phonology
Phonology is the study of the sound patterns of human language.

Phonology analyzes the patterns of sounds in a language.

b 19T
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Phones, Phonemes, and Allophones

Phones or phonetic segments are the smallest perceptible discrete sounds;
whereas, phonemes are the minimal units is the sound system of a
language.

A phoneme is the smallest unit of sounds in a language which can

distinguish two words.
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When more than one phone is the realization of a single phoneme, these
sounds are called the allophones of the same phoneme.

Difference between allophones does not lead to changes in meaning.
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Branches of phonetics
\- Articulatory phonetics
Y- Acoustic Phonetics

Y- Auditory phonetics

Inadequacy of Orthography and Advantages of Phonetics
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Organs of Speech
\- The respiratory system. The respiratory system comprises the lungs,
the muscles of the chest, and the windpipe.

The airstream mechanism is called pulmonic eggressive airstream

mechanism.
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Y- The larynx and the vocal cords.

a) Vocal cords drawn wide apart. (voiceless sounds) e.g: fat, chat, top,
sheet

b) Vocal cords held loosely together. (voiced sounds) e.g: dead, bed,
jump, zoo, yellow and well

¢) Vocal cords held tightly together. e.g: act, empty and uncle

T a5 53 S0 oLl 50 i Comd s Y
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act, empty and uncle :uu;}&@@jgftjc))ya\);&xﬁf@

Y- The lips contribute to produce bilabials (e.g: put, boot and /m/)

lad ¥



¢}>J¢§ ii
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£- The teeth contribute in the production of dentals and interdentals.

laolds —¢
1> JiE Sl oy Interdental L SIws Dental slalsT A 5 s LolLs

0- The alveolar ridge contribute to produce alveolars .

AS e S a(td i, Lt s, Z) ke sbalsT A g5 55 el -0

- The hard palate contributes to produce /j/ (e.g: /yes/, /j/)
Jyes/ il S o S L i/ sle slalsT I 5 s r\f e =1
Y- The soft palate contributes to produce /k/ and /g/ . (e.g: /k/, /g/)
Sl ES e /g 5 /K Aile SlalsT US55 55 CK o5V
A- The uvula contributes in the production of /q/ and /x/ in Persian .
s A w3 KN /5 510/ e o alsT A 5 55 (S S 0L3) S A
\ +- The tongue is studied in five subparts:Tip,blade, front, back, center
oLy -y
(S o 5 iy = sl — 425 =S ) 31> STl 15T W 5 55 Cond ey 3 0L
{ {- The pharynx: Extends from the top of the larynx to the hindermost

part of the tongue.
Gl 1yt s 00 0L 51 v o 5T 45 45 0 i (6 sl o aals] 1l — )
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{ Y- The glottis: The space between the vocal cords in called the glottis.
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{ Y- Nasal: In which the air passes out through the nose only.
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Consonants are best described in terms of a) place of articulation, b)

manner of articulation, ¢) voicing, and d) whether they are oral or nasal.
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Place of articulation
\- Bilabial e.g. /m/, /b/, /p/, /pen/
Y- Labio-dental e.g. /f/, /v/
Y- Dental or interdental, /8/, /6/
¢-  Alveolare.g. /n/, /d/, It/
o- Alveo-palatal e.g. /t//, /I/
1- Palatale.g. /j/
V- Velare.g. /k/, /g/
A- Uvulare.g. /q/, /x/
4-  Glottal e.g. /?°/, /butter/ /bA?’o(r)/

Ll o8
pen/ 1 s> sbalsT -\
318z g1is = o3 sWalsT -
011 5105 o b 51N> slalsT ¥
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Manner of articulation

\-

Stops or plosives: a complete closure of the passage of air. The
closure is then suddenly removed. (p, b, t, d, k, g)

Fricatives: narrowing the two articulators and allowing the airstream
to escape with friction. Fricatives are continuants. (f, v, 0, 9, s, z, J, 3)
Affricates: a complete closure of the air passage of the blocked air is
slow.

Nasals: in the production of nasal there is a closure only in the oral
passage, while the nasal passage remains open. (/m/, /n/, /y/)

Lateral: A lateral is produced by partially blocking the airstream by
the tongue tip, but letting it escape at one or both sides of the tongue.
Net/ /1/

Retroflex: the tip of the tongue is curled back. (rain)

Rolls: the tip of the tongue taps against the alveolar ridge several
times

Flap: A flap has a single tap. (r-sound in rabbit)

Glides or semi-vowels: sound produced with little or no vibration of
the airstream in the mouth. Partly like vowels and partly like

consonants. (/w/ and /j/ (/y/))
Lals gy,
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The vocal cords do not vibrate. The sound is therefore voiceless.

The vocal cords vibrate; the sound is, therefore, voiced.
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Vowels :

In the production of vowels there is no obstruction.
Vowels constitute the main core of the syllables.

All vowels are voiced. To study them we note :
b 45719
2 15 mile s (aSTT) ol sblsT Wy s
Aaas o S8 1y s 4 LaaST

sl S 253500 o T (6 andllan 55 ks sl Sea s ST

{- How high is the tongue?

93,8 oo o3 Y i Ol -)

The vowels produced when any part of tongue is raised to the highest

point are called high (or closed) vowels. /i/ and /u/ are high vowels.

g i o obul 35, YU Ses d cp SVL B OL) oS Sl (az) e sla ST

RESCIW é&‘f&\.&ﬂ\f‘)/u/)/i/

Those produced with any part of the tongue at or very near the lowest
point are called low (or open) vowels. The vowel /a/ 'father' is a low

vowel.

A5 ey e 50l 4SS 0L ST SLa3 L) oS glisyl b slasSTy

] VS gl b 15 'father' C& s /a/ L sd oo
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The vowels produced with tongue position between high and low are

called mid vowels, such as /¢/ as in /bed/

N8 b s s YL ds o (s 53 0L & Slej Lo e g li,I L slassSTy
/bed/ /el Jio L g o A g5 5,8

Y- What part of the tongue is involved? (what part is raised?)

a) Front vowels: front part of the tongue raised. "seat" /sit/, "sit" /sIt/

b) Central vowels: central part of the tongue raised. "around" /oraund/,
"much" /mAtf/

c¢) Back vowels: back part of the tongue raised. boot /but/, book /buk/

"seat" /Slt/, "sit" /SIt/,u\iT‘sﬁ YL: g_)l.a) LS}‘\’ Camnd &jb L;LM.(\} BE) (J‘
"around" /oraund/, T YU 0L 55 e Caud 1655 e saaSTly s (O

"much" /mAt//
boot /but/, book /buk/ . T oo YU 0L e ead 1 iy bS5 53 (-

Y- What is the shape of the lips?

ol 6,85 ad g8
Spread "beads' /bidz/
Neutral "about" /abaut/
Rounded "boot" /but/
o Jto 0257 fe/ L "beads' /bidz/ sl : 03 &
"about" /obaut/usle : s
"boot" /but/ sk : s &
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$¢- How tense are the muscles of the vocal tract, particularly the

tongue?
SUs 0aS juiz 0L Lo guadus g g0 Caad SMae

Tense and lax vowels based on the tenseness of the muscle of the vocal

tract, particularly the tongue. /i/ is tense and /I/ is lax

C.J)L..é.cJ@\Qﬁ\w@}lmr_aﬂbhdbdjﬁpwuhé&

o) G S g ol 0128 887 [ ASla ol 0k 0 2ST i 0L 5L gt

Diphthongs

‘A&UTJJ

A diphthang is a speech sound which starts from the point of articulation
of one vowel and moves towards the point of articulation of another

vowel or a semi-vowel. /ey/, /ow/, /ay/, /aw/, /1a/, /ea/, lua/

STy Ay oLl a5 ol g5 4S5 G g ol 1S s o lalsT
leyl, oWl fayl, [aw], .4 yd o (ogn O e Sl g oKl b g s
/Tal, leal, lua/

\- The diphthong /ou/ begins with the vowel /o/ and moves in the

direction of the back vowel /u/.

£o, J—:ﬁ Adf@‘}_:a/u/w«;):,&@@ﬁ/a/ 45‘3\.3/911/ ‘_gle):—\
bowl

Y- This diphthong begins with the vowel sound /a/ and moves toward /u/.
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JJ:H@W/U/WM):H@C)H/a/ Ajb l_g/au/ @‘)T}J—Y

now,allow

Y- The diphthong /el/ starts with the vowel /e/ and moves in direction of

7.
pray, eight fie LS oo Joo I/ Ceaw s 5 0l g5 000/ STl el lolss =Y

¢- This diphthong begins with the vowel /a/ and moves in the direction of

.

cry,sight 2o LS /1/ Caw 41 g odd & 9 "/a/«fb)\ ij: ol —¢
et e d €2 < >

o- Beginning with /3/ this diphthong moves in the direction of /I/

oil, annoy Jae . AS" oo Joo /) Cas 45 5 0 9,5 /0 sl 53 ul-0

- In this diphthong, there is a movement from the front vowel /I/ towards

the central vowel /a/.

513555 /0) 65 0 aS |y Cnw s /1] o sl &S5 51 CS o 15T 53 ol 551

serious : J,.a

V- This diphthong begins with the front vowel /e/=/¢/ and moves in the

direction of /2/.



of o 065 o s 51 S 05 4 A

BEHN 5&5‘ J:A/S/ Cow 4 9 ok C)fi/e/:/s/ ‘5_"}\> 4§|) \.: &‘}T): u:\—v
chair, where
A- This diphthong starts from the tongue position for /u/ and moves in the

direction of /a/.
J..f@d.:a/@/@.«.wﬂ)a-\.&)\;“—/u/ 4§|) 6‘;3 Qb) d\?\{&‘}“—): U‘i‘_/\

pure, manual ;45

Triphthongs

LA&‘)TM

A triphtonge is a glide from one vowel to another and then to a third. 'fire'

/fala/

c\_<il?4_33cu\_ﬁt C}j&“fbdg_’"\:j}; alill?)J‘\fm&\Ach\A&bTM

Jisze p g S5 oSSl s ol 53 5 Al o aalsl 5 03,87 e 6 K05 ST

fire : Asle . oo 00
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Syllable: It is a unit of pronunciation typically larger than a single sound
and smaller than a word. A syllable is usually made up of a vowel plus

one or more consonants.

ei:j)):f)}g o &G SI)W &S Conl Ll 5 gulg syllable L i

35 gn 5L Ol gean Lz b &S 6L 4 45715 G 51 Y pame 2w oS

The vowels being the obligatory element in a syllable is called the

nucleus or peak.

Ay S o S e b ) o OT 445 ol i OSG lH1 ie ST

Syllable

\- the beginning consonant: onset
Y- the vowel: peak or nucleus

Y- the final consonant: coda

:ﬁ@wﬁwmgwja
g k544.,\.:‘&? Onset lea &U'L&:\’ Ol goean =\
.:j:rUMLLA.G:ASb -y
D35h o odwbicoda bea LU iee -V

When a syllable ends in a vowel it is called an "open syllable, e.g. zoo

«i8 Open syllable L 3L gl bea 0T & 558 gue &S5 &5 4 ben 35

200 Jio 345
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When a syllable ends in a consonant is called a "close syllable:, e.g. wet

S gh o 5 close syllable L 4w (glen ol @558 g Ol ran 4 bea 3
wet Jia

At most three consonants can occur at the beginning of a syllable and four

at the end in English .

el O 3l 55 bea a OLL 53 Oldeen Ll 5 ST L5 Olgbar aw STlas

Consonant clusters

/-mp-/ in the word "jumper" /djAmpar/ is not a cluster since /-m/ and /p-/

belong to two different syllables.

D oSO 3y 55 Sl geen Saad 5 oy
Sogline gloet g3 4 Ghata -/ 5 /M) | 5 G 4d g5 S jumper 4S5 /mp/

NEVLIW-

Consonants like /m/ and /p/ which occur together in a word but form part

of two different syllables are called "abutting" consonants.

03 gl bl bl doas - SES s aalS oS n /p/ s M ans ool Ben
saben Ol e Ol gear ol & Soygo ) 55 &5 5,5 o 5 ke ol

S (o
Native speakers, often pronounce "charge out" as /t/ards-daut/, "cooks it"

as /kuk-sIt/ by breaking a cluster between syllables.
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L charge out sl SLS” el 6,8 o 3L 1, 0L o155k b 4 a8 SLS
S o Lol b s oo 4l 2SS L | cOOKS it

This process is called phonetic syllabification. It occur when a final

consonant cluster recedes a word beginning with a vowel sound.

S Bl oo Bl Gloj sty b g ol o S o 21T (S s g, pl
£35S 15 8K ba3ls OT o 5,8 oo j1 3 sl o3ls sl 53 2l 4 5 Ol giman

TN

Phonotactics
Phonotactics refers to the specific arrangement of sounds or phonemes in

the syllable structures which occur in a given language.

(@‘)T&‘)T) &'bTC‘j
0L &S5 55 iy & bun &S5 Sl 5o bazly b Wl o gades 0057

.:ﬁ@‘\:jf.uu ‘C)

\- A stop can not cluster with another stop in the world-initial position.

Thus, /b,g,k/ and /p/ do not co-occur word initially.

(J‘i‘fft'f ..UJJT‘SQJ Sy &\M 4 g Q-:)'&T Clea s 6;:3)5 93 J’.fjm—\
.mv.al{\)/k/)/p/—/g/—/b/.»L'.?LaLgLabTajLéTLg\;’a):gLuAJ\;u

Y- Consonants such as /f,s/ and /s,p,m/ do not cluster word initially.
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S5 T Slban sla asiys 55 £ a/5pm/ b 5/ fs / dsle la Ol bean -
A,S
Y- If a word begins with an /l/ or an /r/ the next segment must be a

vowel. Therefore, /rblk/ dose not sound English.

OIK/ 55 V5l 555 ST &ST0L LU oy glowns 25l T /7L o /17 L i) V-
S Jw:li.ﬂ L;L,\..pég.l

¢-  When the second consonant is a stop the first consonant can only be

/s/, such ad "ski" and "speak".

1le LB Wl g5 go /8/ e 3T (Gl LBl B 55 SG Ol guan pass B —E

speak s ski

0- /y/ occurs only after some short vowels /I, &, A, a// in English, such
as /sly/ sing, /sen/ Sang, and /say/ song. There fore, unlike Chinese
where there are syllables such a /tfi:n/, /tfa:n/, /tlu:n/ such syllables do

not occur in English.

/al o/ N /@l aU;&\A 4\5‘})‘ A ..La‘}l’.'.n MA/I]/ 6‘)]— m&‘)J—O
Lile gla 23w 9y opl 5l .song/san/ssang /sen/ gsing/sly/ :Jia.:):fj}
s 3 g2 g0 G.W,li'\ OLj ya bl syls 59 s 0L Satlin/, amy/, ihuy/

- If the initial sounds of a word is /t//, the next sound must be a vowel,

e.g., "chat and "church" but not /t[pa/ and /t/11k/.

Ale Ll &Sy Wb i o s 5,8 15 T labes 45/t ST

church ,chat
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V- Two sequential nasal consonants are not permitted in English.
Therefore, whereas /mna/ occurs in one of the African languages

called Twi, such as sequence is not possible in English.

s /mnal Ll x,fda)\}v.a)tfﬁfﬁ e Ol en 93 k;«:KJ\):—V

53l o5 BT E a eSS 0503 ol l 3515 5 g 5 Twi ol gl 5T OL5

A- Both voiced and voiceless stops occur word initially before the

liquids /I/ and /r/: trade, break.

P 1ol N S e i 55 Llgie Mo g9 sl B85 slalgT -A
trade, break Jsb .. J,.f

4- Only voiceless fricatives can occur word initially before the

liquids: fly, thrash, shrink.

fly, thrash, a5l 05,8 513 /1/ 31 S Wil o cdolo glalis o Lais -4
shrink

\ +- Only the following clusters are possible in word-final position:
a) anasal plus two stops: prompt, distinct

b) a stop followed by a fricative and another stop: text, midst

c) anasal plus a stop followed by a fricative: glimpse, jinx

d) aliquid followed by a stop plus a fricative: corpse, quarts

e) anasal followed by a fricative followed by a stop: against, amongst

LS K s oK sl s A8l e 5 slaad g Laib Y s
distinct s prompt =dsle. 45 5 93 OT JLb e st &S5 _ Al

text, midst le. . K3 85 G e 5 il &K b 55 K
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sglimpse sl . ale oK 0T JB 5 o Slsl 4 pshs & _ 2
jinx
s quarts (b . ole &K 6lol 4 5 oK 0T JL (1) Olyy &K s

corps
5 against 1Sl . B 5 K e 5 dole K0T JUL esis oK s

amongst

A" /a/

Y. cov he /hi:/

Y. wve sea/si:/

£. cve book/bUk/

0. ccv ski /ski:/

1. ceev strange /strends/
V. vee act /act/

A, veee arms /a:mz/

4. veceee empts /empts/
V. ceve speak /spi:k/
VY. ceeve street /stri:t/
VY. ccevee streams /stri:mz/
\¥. cvee hint /hInt/

V¢, cveee hands /hands/
V0. cveeee texts /teksts/
. cevee start /start/

VV. ceveee trunks /trAnks/

\A.  cceveee stricts /strlkts/
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Stress

Segmental phonemes (i.e., vowels and consonants), and suprasegmental

features such as stress and intonation.

Mr-é-“)\:-w-"_g’b)LS°JLS?'-’JJ-’))3(L"U‘}"’-ﬁ-“j\-’“‘fbj))wj&“—

A stress syllable can be defined as one which is more prominent than the

surrounding ones and stands out among them.

G 03 1y 355 5 A0S Halaes sl b 1 5500 1 OT Ll 5 e b &S5 (55, s
Ny QLLLJJZQLAQT

A syllable that is stressed may also be somewhat longer in duration than

an unstreas syllable and be produces at a higher than normal pitch.

LEA—“:’,L&")-’LSJ:"LS}—;MLS’)"\’U“U“};g_g‘;*W‘OTLS})w}:”’“\sgLS\’.‘A

sl azils 558 s sl Judy sl by sl mul 4T (gloen

There are four levels of stress in English: primary, secondary, tertiary and

weak.

sl cﬂ\:im 44.1}3U c‘\."..b| 35l c)a.u)\,@.? g_)LJ) BE) u"f*"‘

At least three out of four of two syllable words have primary stress on the

first syllable.

I J}‘Jéqé))@ﬂ)wa«i—fr)%m&\u\:—) sSler s SladS” ST s
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Words, which may be used either as nouns, or verbs. The nouns have

primary stress on the first syllable and the verbs on the second.

A b il el 2 b ) Lig s gn 5SS Job s el S5 55 4 oS ST
sl b S5 sl slomn (55 adsl il Lo il el 0315 OT 871 (Jd

3,8 05 psd Sl S35 ads) el Lages

Word which can function either as adjective or verb.
Adjective have primary stress on the first syllable and the verb on the

second.

HL)‘JMMH&)&}J@J&W}M‘J&Z)JAadsdlfjb
s dsl loma (555 boges adsl o il d2il Cdns &S S 51505 (Cdr 2

"tho"‘)‘);(’}-’ Sler (S5 besas adgl il LSl e

When a suffix is basic word: ab'anndon, ab'andonment; h'appy,

h'appiness, re'ason, re'asonable.

o el O 355 g0 § 5 5 —ment, -ness, -able wils ok gms b (6l o315 (35

ile oo (Bl (A3 oKl Dlan 43 5 LS pud (oS ot

However, words ending in —tion, -sion, -ic, -ical, -ity- eous, -ive, and —

graphy almost always have primary stress on the syllable preceding.

—tion, -sion, -ic, -ical, -ity- eous, -ive, and — L gy 45 SLIS 5 Galf

s o Jame ST 5 e (slaws 4 il OIS ST e Z3ls 55 graphy
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Some suffixes carry primary stress themselves.
-ese: Japa'nese

-ee: refe'ree

-eer: mountai'neer

-ette: ciga'rette

-esque: statu'esque

- ain: enter'tain

33 ) A8 o Lad 1y 0L 5 4ol el o K (sl ks gy I i
(0,8 o )13 a1 S50 2 T n Sl iy I L ST LS

-ese: Japa'nese

-ee: refe'ree

-eer: mountai'neer

-ette: ciga'rette

-esque: statu'esque

- ain: enter'tain

Stress pattern of words with prefixes.
There is no prefix always carries primary stress. Stress in words with
prefixes is governed by the same rules as those for words without

prefixes.

Lyt b SIS s el (oS
U Bin b WS 53 adgl el 3,8 o 513 iy 605 4l el 52
Cel L in) 358 oo Jasl Wiy O OIS 3 a5 oS ol U148 Olan

(o5 g0 o ol (g lomslm
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a) Compound nouns ordinarily have a primary stress on the first

component and a secondary stress on the second.
033 252 S au b ol 5 ol ez 5 adsl ol ST Slaged s ()
Cayls 4l 8

b) In compound verbs. There is usually a secondary stress on the first

component and a primary on the second.

033 e 72 Sa sl ol 5 sl e S35 w56 o el O e o Jeb )3 (o

Syl 8

c) Modifier plus nouns have a secondary stress on the first component

and a primary on the second.
‘\.:Jj‘wf.w‘}d)‘;Pd})ijwfw‘ﬂ‘bc‘j@W6u%§j)J(C
S BN SRS Nt

d) In qualifier plus adjectives, a secondary stress falls on the qualifier

and a primary on the adjective:

5 0dS LAiS Gy au Sl il LS L Cieo Lol e L is sla oS 550 (5

'JJBJ‘}’L}“.'.WLQJJ@}‘JJ;"‘

e) Verbals plus nouns have a secondary stress on the first component

and a primary on the second.
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J-IJL.N‘)J}‘;P6})41)5\3‘}»}.»1‘?.“‘\40‘}@&9[3&:)‘.0«46\.&;«6{;)3(_&5

RGN r): Lt ED) 4\:33‘

f) Two-word verbs have a secondary stress on the verb and primary on

the particle.

S adsl il 5 Jmd 655 405U o sl (O-DMas)) (glaadS” 55 JWdl )5 (5

5,8 ol

When sentence-stress falls on a word of more than one syllable it always
falls on the syllable which normally receives word-stress; I'll meet you

tomorrow.

i)(}ws)b\eaégéj\ﬁﬁﬁsjéf)\}&|A.QKL;)JA.LQ:.-JJ;#\AS@LU'

S)ls ol jen 1y adS 0T Hlis (gole jsb 4y a5 558 o sl slen (69, sLid op)

Content words are normally stressed in a sentence:

V. nouns

Y. verbs (with a few exception listed under function words)
Y. adjectives

¢. adverbs

¢. demonstratives: this, that, these, those

1. interrogatives: who, when, why, what, where

S SE ) 5,8 a5 T ey ol ez 53 Vame 8 SE 515 o b
(G55 g0 Ll (55655, KTl K5 08515 4 o

Lar..a\ -
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(Sblzal 31 (g3 5dme sldws 3 & 5 55 05) s b Y
Lo, -Y

bas ¢

this, that, these, those o,lil Slae -0

who, when, why, what, where :lawh i ol

Function words are not stressed, unless for emphasis.

Articles: a, an, the
Prepositions: to, from, of, at, etc.
Personal pronouns: I, me, he, him, etc.
Possessive adjectives: my, his, your, etc.
Relative pronouns: who, that, which, etc.
Common conjuctions: and, but, that, as, it, etc.
One used as a noun substitute
Auxiliaries: be, have, do, can, etc
NgT ST e b Ko 5,8 o )5 48 DS (555 1 e el
Dl )le SldS ol
a, an, the 1l Cay 25 29 >~ )
to, from, of, at Uile :adlsl (o >~ Y
[, me, he, him Aibe Jsnie 5 Jobb ples ¥
my, his, your 45k u.{\h Sl ¢
who, that, which Wb Jsose sles -0

and, but, that, as, it Al Ly, a5 oy >~ -1
YR PP 4 Sl &S (o0 ot Ol 4 One -V

be, have, do, can : S&S" gls Jab -A

Rhythm
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Rhythm refers to the recurrence of sentence stress at regular intervals.

e ol 3 dhaz 53 el 5SS Gl 1 ol O jle oKaT 1 KT
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Intonation

Intonation is the tune of what we say.

Intonation is the rise and fall of voice on certain words in a sentence.

KT
il g 5 Kos ol 4 s 548 e Ol &S S o Sl el Sl KT

cale 3 e SIS I8l s Tus 5 by el YL L

Rising-falling intonation

The voice most frequency rises above normal, then falls below normal.

Risin
I said I couldn’t/hear you

Falling

D P95 — @3sme ST
548y g o 5l VL e Il gl JSC 4 1o 1S5 Sl )

S o dsi b e 54 e

Rising intonation refers to the movement of voice from a lower to a

higher pitch level. It is mainly used for yes/ no questions.

Are yoy ready? Yes, No

-Li;‘_gﬁ LSJN&AT‘);YQbA{&Q‘J>)'||MCSJ>ZL§JJM&AT

g g 03l 10 L yes Ol b (bl g s KiaT ol Y pome
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Any statement can be changed into a yes-no question simply by the use of

rising intonation, without changing the words themselves in any way.

It is time for him stop.

It is time for hin@—

S S 51T dhaor ST o5 L dhaor Sl )3 i 090 015 (o0

38 ks Jpw JK2 0

We may pronounce on a higher note the stressed syllable of any word to

which we want to call the attention of the listener.

W;‘ do you know about M
Wha1 do’ yoﬁ know about LM

s 0T (315 o oS o alazr 3 (ol 4adS 4 1) ol 4 5 ol iy S|

oS Ol SV KT 1) S o oo [y (ool o il o751

Limited Choices With “or”. Rising intonation is used for all except the

final alternative.

You can express it in writing or’;eaking M

Lgsywydafi'@biﬁ“‘ "L,'.‘"LQMKJ.‘LGJ.TJJAEJ)W‘SLQ&TJB&‘)J

58 oo dlesl 2T Ol 4 Las\;ifdwd\ﬁ

Series With “and” (the same as No.\).
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I have two|brothers, one gister and three 4ous]ns.
LQJ‘}"*’Q’J > g 03t L@Tw'g"@ﬁ,‘\,.\;&l{ J}J;u‘.h;,da.céfdbj
.s,&@oa\.é;.»lf'-T;)f)‘\réq 3 g0 deds (gl 5

Unlimited Choices With “or”. When the choices are not limited, rising

intonation is used for all choices.

Do you want|tea or offee?

LS‘MU'"’J J}& oslanl @Tw"b_"wf)u.ub J}u\.wbubd;‘ﬂ\fs\ﬁ)

2395 25 4 ol dan (¢l (63 520

Direct address. Rising intonation is used for names or name substitutes

and titles addressed directory to the person to whom one is speaking.

)

My [friend, I’'m glad to SI;e y&u.

dugfijiﬂé"i@b‘d‘jdﬂﬂﬁ—WOJ‘JJU—;%U”"JJJAQJMJJ

Jj)@JKMWJ}LM@‘WJJ}AKJSLQLAQ‘}&G‘})@LJ

Tag Questions. When the speaker already knows, when the speaker is not
sure of the answer. The former has rising-falling intonation pattern and

the latter rising intonation.

You are Eungiy, arer’t you?
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You are hungrly, aren’t [you?

:.,L'S@L;)Jy__fu'L;}g\)sj\(é\}.uL;Ladg@)ug|yvag|a\):é§&vf
eJU.LJé}j}L;J}a...o&Jj‘uﬁ‘u\{bg‘}g-ﬂjh%}fdsféjyjb
3 3m0 oo 31 s B iedae Jl g el Sl oy £ 84S G550 53 5 LS o0

.1.5@ oalaul
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2197 B 0K 9 Lol

03| o1 | 20
ea | ar ao
Bea | [sart b

light

tf d3
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Evaluation

Manuscript

Recommendation

Understandable

Importance
Stain
Attention
Specimen
Specialist
Considering
Further
Expression
Different
Recommend
Perform
Requirement
Trade
Referee
Idea

Sunset
Vocation
Transport

Understand

/tvaeljuert/
/manjuskript/
/rekamendeifn/
/andarstandabl/
/impo:rtns/
/stein/
/atenfn/
/spesiman/
/spefalist/
/kansidarin/
/f3:1rdar/
/1ksprefn/
/difrant/
/rekamend/
/parfaoirm/
/rikwararmant/
/trexd/
/refariz/
/ardiza/
/sAnset/
/voukeifn/
/trenspoirt/

/andarstaend/
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Interesting /intrestin/
Sympathetic /simpabetik/
Comfortable /kamftabl/
Scratch /skraetf/
Sphere /sfir/

Spray /spre1/
Struggle /stragl/
Scream /skrizm/
Slide /slaid/
Special /spefl/

Bursts /b31rst/
Trunk /trank/
Strength /strenB/
Japanese /d3aepaniiz/
Portuguese /pa:rtfugiiz/
Journalese /d33:rnaliiz/
Refugee /refjudziz/
Evacuee /1veekjuiz/
Employee /1mploriz/
Mountaineer /mauntnir/
Volunteer /va:lantir/
Cigarette /sigaret/

Launderette /Ibindret/
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Picturesque
Unique

Entertain

I'd like an apple.

1d laitk an @pl.

I'd like a sandwich.

1d latk a sanwit/.

What did you want?

wat  did ju waint?

Where's the art building?

Werz 0s airt bildin?

How did he do it?

hau did hi du 1t?

What did you find?

WALt did ju faind?

Why did you take it?

war did ju terk 1t?

I'd like to finish up.

1d latk tu finif Ap.

/piktfaresk/
/junizk/

/entartein/
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I wouldn't careless.

I wudnt kerlas.

He's always a little careless.

Hiz dilwerz o Ittl kerlss.

Try to keep the street cleaner

trar tu kiip 0a stritt  kliznar.

I saw the film, but I didn't like it.

I sor 9 film, bat1 didnt latk it.

I waited for an hour, but you didn't come.

1 wertad for an aver, bat ju didnt kam.

He was late and missed the bus.

Hi woz lert and misd ©3 bas.

Would you like tea or coffee?

wud ju latk tir  o:r ka:fi?

He bought a book, two pencils, and a notebook.

Hi  bort 2 buk, tu: pensl and o noutbuk.

Shall we go to the zoo, or cinema?

f®l wi goutu 0a zu:, dir StNnama?
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You are a student, aren’t you?

Ju air 9 stuidnt, arrnt  Ju?

Please come here, I want to talk to you.

pli:z kam  hir, I wdoint tu tik tu Ju.

Would you like a piece of cake, a sandwich, or some cookies?

wud ju latk o piis av keik, a senwitf, air sam kukiz?

I have two brothers, one sister, and three cousins.

I haev tu: bradar, wan sistar, oand Ori:  kaznz.

It's good but expensive.

its gud bat 1kspensiv.
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\- Language : A mental phenomenon that includes a series of knowledge

about the phonemes , morphemes , syntax and meanings which exist in one's

mind .
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Y- Speech : A concrete physical action including the production of specific

words which have been created through the combination of particular

phonemes to be expressed in a systematic manner.
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Y- Language competence : One's abstract phonological , morphological

syntactic and semantic potentiality in relation to his/her mother tongue

including a finite group of language rules .
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¢- Language performance : The concrete physical language behavior

performed to create a real language communication . It enables the distinction
of grammatical from ungrammatical sentences , along with the recognition of

ambiguous and synonymous ones .
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0- Grammar : A description of the various rules which connect the words

together to make meaningful sentences . It is an abstract to describe the

underlying knowledge which stands as the base of language performance .
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1- Language rules :The rules that cause the language to form . They are

classified in two categories:
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A- Constructive rules : The rules which are vital for the existence of the

language as a phenomenon.
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B- Regulative rules : The rules that regulate and control the performance of

the language as a phenomenon .
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V- Descriptive grammar : A grammar to explain the constructive rules of a

language along with the underlying knowledge which makes the actual use of

a language practically possible .
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A- Prescriptive grammar : The grammar which specifies how the language

must be regarding to the regulative rules .
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4- Grammatical sentences : The sentences which follow the structural rules

in their formation .

9

K5 b aadS T Gb oS 0ijle del 8 b J gl 48 gazes 5 ol oyl T goRI =)
b o T e ) 50 4 0L

Sl s @l 0l Hsi S sl GUly g o3 dls & Sl o8T 550 iils sous
byl b T ool 4 s ddex

Gold g sl b Dl fo3 51 Ok (e la Soge b b il LS e o

!

\+- Syntax : A group of constructive rules according to which the words are

arranged to form a logical sentence . It is an unconscious knowledge which is
considered as the base of the speakers' abilities to produce and understand
sentences . Syntax is to link the apparent oral or written form of a sentence to

its actual meaning .
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\\- Language productivity : The speaker's ability to produce and

understand an infinite number of sentences which he/she has never heard or

produced before .
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\Y- Generative grammar : A grammar to describe the principles and the

rules through which sentences are generated .
Ola 3 30 Lol gy 45 Jgminy Jobb dilon i ol 4adS™1 (G920 (S L& =\Y
o Oy LS S RS [y akos- f,pL'&

cOsh o e Glae y3 ok Col ”‘Y}w Llgy opl s

\Y- Syntactic functions : The words in a sentence which specify the

relations among the elements of the sentence and any change in the position

of which causes a change in the meaning of the sentence .
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\¢- Surface structure : A representation of the elements existing in the

sentence along with the order of the words and the structure which represents

the sentence .
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Vo- The most abstract level of a sentence in which the most major

"

components of a sentence exist . The term is also known as " underlying

structure " and " remote structure".
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Vo- Constituent : Relatively small orderly formed group of words which

together make up the construction of a sentence .
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\V- The orderly and systematic arrangement of the constituents which lead to

the formation of a grammatical sentence .
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\A- Constituent structure rules : The rules regarding to which constituents

are systematically put together in a grammatical sentence . Representing the
constituential structure of the sentence along with the representation of the
various constituents making up the sentence ,they introduce a description of
the structure through which the sentences that the speakers speak have been

constructed.
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\4- Tree diagram :A representation of the structural construction of

sentences in the form of a tree, also termed as phrase structure maker and

phrase marker .

PR WP PP W I CIPYINT. S RV REA RN APPSO R P

ol O Sl e (ojlo Olan ) &S dy oo 5l 4 LS Ity slzel YU 4y S

Y+- Branch : A line which if stretched downwards , ends to a constituent ,

and if upwards , it ends to the construction it belongs to .
ol i Ll o K 4 4l i b g3 OT 3 457 Sl () a2 0 7 V)
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Y\- Node : The point at which the branches of the tree diagram meet . The

branches which stretch downwards from the node represent upper

constituents .

~(SeS J 65) = ol 03 8 S5 (Gl ) alex Kt b 03w S1g31-YY
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YY- Types of constituents: A structure is made up of a " Noun Phrase ", ( an

Auxillary ) and a "Verb Phrase . Both the Noun Phrase ( NP ) and Verb

Phrase ( VP ) may be analysed to smaller constituents which make them up .
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[ —— NP (Aux) VP ]
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[NP woeeeeeeee (Art) (Adj) N ]

A- Noun Phrase : The constituent the unseperatable core of which is a noun

. It may consist an article ( art ) and an adjective ( adj ) as well .

et Ol 4) BLS O > &S5 51 a8l (gl sjle 1 (S Lol B> 09 F -
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B- Prepositional Phrase:The constituent made up of a Preposition at the

very beginning and a Noun Phrase accompanying .
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C- Verb Phrase : The constituent the unseperatable core of which is a verb .

It may consist a Noun Phrase ( NP ) and a Prepositional Phrase ( PP ) as well.

[ VP V (NP) (PP)]
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Y¥- Syntactic functions : The functions such as the subject , dirct object ,

etc. which specify the relationship of various components of the sentence

together .
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Y¢- Syntactic systems : The rules which relate the sentence with its actual
meaning .
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Yo- Syntactic relations : An explanation which represents the principal

interrelation of the words to construct sentences .
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Y- Transformational rules : A set of syntactic principles which influence

the deep structure to produce the surface structure . Transformational rules
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are not to create new sentences , instead they convert a sentence to other

forms .
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YV- Types of transformations :
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A- Particle movement transformation : It moves the noun phrase to insert

it between the verb and its particle .
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B- Imperative transformation : It is the syntactical principle to delete the

subject along with the auxiliary in an imperative sentence .
ol (sla 05l oo 228 5 Shee T Ol (ool 09 7 Bl LS -~
el e C b 555 5 35 50 OLSS
C- Equi NP deletion transformation : It is the transformation to delete the

equivalent constituents existing in the deep structure . {eg. John expects

(John ) to win the game . }
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D- Pronominalization transformation : The transformation which replaces

the proper pronoun in the place of the respected noun .
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E- Reflexivization transformation : The syntactic principle which inserts a

reflexive pronoun in the sentences in which the subject and the object are one

355 @y eyly e Sy b o 7 (S5 1y it RS ol 1t Bdo JBES -

F- " It " deletion transformation : The transformation which deletes "it"

when inserted between a verb and a clause .
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G- " That " insertion transformation : The syntactic principle which inserts

"that" at the very beginning of an embedded sentence .
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H- Extraposition transformation : The transformation which moves the
embedded complement sentence to the very end of the sentence which it

itself is embedded in .
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I — Relativization transformation : The syntactic principle to replace a

proper relative pronoun for the noun phrase of the embedded sentence .
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J - Relative reduction transformation : The syntactic principle which

deletes subjective relative pronoun along with "be" in relative clauses .
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K- Adjective inversion transformation : The transformation which moves
the adjective remained out of the adjective clause to the place prior to the

noun .
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L — Passive transformation : The syntactic principle which changes the
appearance of the active sentence along with the relationship of the noun

phrases in it to produce passive sentences .
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YA- Interpretation : The presentation of various sentences which have one

same deep structure . Each sentence can be interpreted through other
sentences which have the same deep structure . Differentiation in the surface
structures of the interpreted sentences is the result of the application of

various transformations .
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Y4- Ambiguity : The unique representation of the surface structure of

sentences with different deep structures . Here the transformers are applied to
various deep structures , but the result is one unique surface structure
representing different meanings . Each ambiguous sentence has the same

number of deep structures as the representation of its meanings .
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Y+~ Cojoining : The process to produce new sentences via joining two or

several parts of the same part of speech by means of conjunctions .
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Y¥\- Embedding : The process of enveloping a sentence within another

sentence .
10Ul (S5 498 Sl Ao Flgil-TY

Y'Y- Types of embedded sentences :
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A- Complement sentences : The type of sentences initialized with "that"

which serve as a part of a noun phrase .
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B-Relative clauses: Clauses initialized with a relative pronoun to serve as a
part of the noun phrase. Standing after the noun phrase , they do not have a

real noun as a subject or an object in their surface structure .
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Yo- Definition : Semantics is the direct study of sentence actual meaning .
This field is categorized into two separate subdivisions : " Lexical Semantics
"and " Sentence Semantics " .
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Y¢- Semantic features : Unique semantic elements when combined together
create the meaning of the word .
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Yo- Interprative semantics : An approach through which the meaning of a

sentence is estimated according to the structural rules and structural

interpretation of the sentences as well as the meaning of the words .

3,8 Sy ool
Y- Standard theory : The theory set forth by Noam Chamsky which

suggests that semantic interpretation should take place in the level of deep

structure .
STAS oo a4l 4 i ) T 4Bl o T (5 bl (5 4 L YV
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YV- Extended standard theory :A revision on standard theory by Chamsky

suggesting that semantic interpretation should take place at both surface and

deep structure for a limited number of sentences .
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YA- Revised extended standard theory : A second revision on standard

theory suggesting that in a descriptive grammar, semantic interpretation takes
place at the level of surface structure . The theory states that the syntactic
rules which delete or move constituents in the process of producing surface
structure out of deep structure leave a trace which remains in the surface

structure with the help of which semantic interpretation can take place .
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¥4- Pragmatics : A branch of semantics dealing with both the denotative and

connotative meanings of words . It focuses on the language competence

along with the texture in which the speech takes place .

crseke 5 e gl s le b 5Tl 0T (Sl i
¢ +- Speech acts : This term introduces the acts which take place as concrete
ones in speech .
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¢\- Illocutionary force : This term deals with the intention of the speaker

with the piece of speech he/she says . The meaning is not directly taken out
of the meaning of the words or the sentence itself but is taken out of his

intention .
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£¢Y- Conversational principles : The principles that both sides of speech

follow . These principles include :
LS dal g |y S g 0313 Ol Cesaw 355 5l 0y 58 — Al

A- The one who speaks proves sincerety and speaks truthfully .



ar o 05 o s 51 S 05 4 A

Pl S ) 5 e s b 4 b bl 3sh S i -0

.ML:}{ZKJJJ;)J

B- The subject being developed should be relevant to the topic,along with the

situation and the sides engaged in the conversation .
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C- A proper amount of direct information , necessary for the conversation

should be transmitted .
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¢¥- Presupposition : The aspect of meaning including the previous

information about the topic of the conversation of which both the sides

engaged in conversation consciously or unconsciously know about .
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¢¢- Semantics in Generative Approach : In Generative lingustics ,

regardless of syntactic structure, grammar focuses on the deep ( or logical )
structure which is both semantical and pragmatical . In this approach ,deep
structure includes a combination of semantic features ,semantic relations
operative verbs and presuppositions .Here the meaning of the sentence as a
whole stands in deep ( logical) structure and the transformations never cause

a change in the meaning of a sentence .
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¢o-Language universals :The common features shared by all human
languages which occur in all languages repeatedly .

Ll assle Sbj sl S glsl-61

¢1- Types of language universalities :
03 S5k sl 13 slamal b e Oldl i 3T -l
A- All human beings have been created with a mental gift to learn languages .

L&M&b)})&bd)}d@ﬁw—u

B- Difference between deep structure and surface structure of sentences .
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C- Phonetic features : A number of phonetic features exist in all languages .
Moreover , the articulation of all sounds is the result of man’s vocal

operations .
.l.'JLA).VUJ'L.-'@JoﬁfV.A4.1b&\3T3@|)6hu45@‘3&|ﬁ6¢0w—3
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D- Phonemic rules which interrelate the phonemic symbols to phonetic ones .

( eg . assimilation and dissimilation rules )

LSy s u)\y’t\y’\ 355055 S8 Gld Sy gdme —s
E- Universal restrictions in various types of consonant / vowel sequences .
. . g . . oy .
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F- All human languages have the features of interpretation , paraphrase and
ambiguity as well as the structural rules to make imperative , introgative ,

negative and positive sentences .
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G- In all languages , words are categorized as nouns , verbs , adjectives , etc .

and the sentences can go under structural analysis .
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H- In none of the languages there are any transformations to omit the last

word in a sentence or to omit the third word in an introgative sentence .

Ol = s ba Sl o5 A1) 6, JL"“il del g glyls b O 6 aer - b
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I- All languages follow the same rules to generate deep structures , in other
words one same structural rule category is followed by all languages to

generate deep structures .
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£V- Levels of language representation in an infant are :
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A- Cooing : The sounds produced by the infant in this stage are evaluated as
reflections against the environment merely with no language credity . The

period usually lasts for nearly three months.
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B- Babbling : The sounds produced by the infant in this stage,as for the
cooing stage , are out of any language validity .The sounds are considered to
be produced as a means to practice over the domination of vocal articulation .
The period usually lasts up to the age of one . At the end of this period , the

infant ordinarily becomes familiar with his / her language patterns .
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C- Holophrastic stage :This stage usually begins at the end of the first age in
which the infant expresses a simple mean in one word . Overgeneralization of
one word to call for other objects having the same features takes place in this
stage . Here , the infant gradually learns phonemic rules along with the
semantic and simple syntactic features of his / her language . The first vowel
learned by the infant in this stage is [a] and the first consonants are the

bilabials [b] ,[m] and [p].
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D- Telegraphic stage :This stage normally begins at the age of three in
which the infant, without the insertion of any articles or prepositions,starts to
put the words together The setting initially consists of two words , later
three, with the insertion of no articles ,prepositions and affixes .The settings
consist of repetitive words , occurring in various settings — titled core words ,
and words coming with core words — titled free words . The sentences made
in this stage mainly consist of nouns , verbs and adjectives ( and sometimes
lexicals which consist of very important semantic features for

communication).
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E- Syntactic stage : The first grammatical morphemes learned by a child in
this stage in an English language environment are the inflectional
morphemes, the first of which are present continuous tense* ing “and plural
maker “s“. Thereafter comes the past form of verbs along with possessive
forms . Ultimately comes third person singular suffix “s”for the verbs in
simple present . Having learnt the productive inflectional suffixes , the child
starts to learn the grammatical morphemes which in a syntactic point of view
are close to syntactic morphemes . In this stage , the use of grammatical
morphemes ,such as articles and prepositions become popular and up to the
age of five, the child becomes experienced with them .The process of “
passive voice “ which succeeds this stage usually goes on slowly and lasts up

to the age of primary school .
Ly y sls alar cle 31K 6l o 530 e 9 (S Ao (8181

F- Question sentences : In the telegraphic stage , formation of introgative

sentences is as following :
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I- Simple questions are made through simple setting of words with a rising

intonation at the end .
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II- Wh questions are made with the insertion of the wh word at the very
beginning of the simple

sentence with a rising intonation .
Jols e s alar csle SIEL 5 A e 3 1 A S Ao SIS -

G- Negative sentences : In the telegraphic stage , formation of negative

sentences is as the following:
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I- Negative maker “no “ stands at the very beginning of the sentence .
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113 113

II- Negative maker “no “ stands just before the verb .
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¢A- Style : Types of a language applied in various situations are termed as

styles which directly depend on the particular situation in which the language

is used . Styles are categorized as the followings :
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A- Slang style : The words used in this style belong to the category which a
particular group of the society use . These words are grasped by that group
only . These words are not normally respected and are basically used by those
who are not of honor in the society . According to English morphology ,
formation of words in this style is due to the clipping and meaning
extention as well as the creation of new words out of the words with German
etymology . This style is used specially when the sides engaged feel sincere

friendliness .
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B- Formal style: The words used in this style are quite formal and are
selected very carefully to indicate a formal conversation .This style is
normally used either when the sides engaged are not quite familiar with each

other or intend to prove respect to each other .
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C- Conversational style : The words used in this style are common words
and are not considered as formal ones .The use of this style is when the sides

of conversation intend to prove friendliness in a logical manner .
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D- Professional style : The words used in this style are respected ones which
are used by honored people . Etymologically , these words which are usually

long ones ,originate in Greek and Latin expressions .
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E- Dark style : The words in this style which are quite restricted stand in the
forbidden group the use of which touches the feelings of the society . The use
of this style may be common in that group of the society in which the use of

slang style is popular .
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¢4- Styles and situations: Any situation includes at least three aspects to

which one should pay attention while speaking :
sl Cset! Sl Combge L 5 8 b s 4 1 S - Ll

A- Paying attention to the context .
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B- Paying attention to the relation of the people engaged in that particular

situation .
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C- Paying attention to the means of conversation either oral or written as an

aspect which influences the language context .
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According to the studies done by neurologists and the researches done by the
psychologists in the field of cognition , all the language activities , including
acquisition , process and productivity are located in the brain . Man’s brain
,which consists of two homospheres , right and left , is covered by cerebral
cortex which contains about a two billion gray cells.These cells are not
reconstructable and are connected as a whole in the synopsis where the two
homospheres link . Researches state that the major location of man’s
language normally locates in the left homosphere in the areas termmed Broka

, Vernike and Motor .
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Broka Area : This area is located in the front part of the brain and controls
the production activity of language . Any damage to this area leads to the

aphasia which disables one to write or speak the language .
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Vernike Area :This area is located in the back of the brain and controls the
language apprehension. Any damage to this area leads to the aphasia which
disables one to apprehend sentences but does not influence his / her ability in

writing or speaking .
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Motor Area : This area controls all the physical — linguistic activities of man
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Word

Words are grammatical units which are combined in sentences in a
systematic manner in order to convey a special thought , both in written
and spoken form . Linguistically , there can be no explicit and restrict
definition for " word " , however , it can be discussed in various fields ,
the most important of which is " morphology " , ie . the study of word
structure . Every word is composed of one or several meaningful units

which are themselves subdivided into smaller groups as the followings :
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Morpheme
A morpheme is the smallest meaningful unit of language which cannot
be seperated into any smaller meaningful units.Morphemes are divided

into two groups as free morphemes and bound morphemes .
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Free morpheme

Free morphemes are those morphemes that can stand alone and can be
used independently in a sentence..In other words these meaningful units
of language can take part in a sentence by themselves to perform their
role . Free morphemes are themselves divided into two smaller groups ,

functional free morphemes and lexical free morphemes .
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Functional free morpheme

Functional free morphemes are those morphemes which signal logical
relations or grammatical information in sentences and to which no other
morphemes of any type can attach.Prepositions and articles stand in this

category .
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Lexical free morpheme
Lexical free morphemes are those morphemes which occur in isolation
and to which other morphemes can attach . Nouns, verbs and adjectives

are the instances which stand in this group .
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Bound morpheme

Bound morphemes are the morphemes that can not occur in a sentence
independently ; they have to attach a free morpheme when they are
supposed to take part in a sentence .Bound morphemes are themselves
divided into two smaller groups, inflectional bound morphemes and

derivational bound morphemes .
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Inflectional bound morpheme

Inflectional bound morphemes are those morphemes that do not change
the meaning or the part of speech of the base that they attach to, instead
they expand the usage field of the base along with preparing it to occur
in a specific sentence . Plural maker of "s" and past maker of "ed" are

the instances which stand in this category .
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Derivational morpheme

Derivational morphemes are those morphemes which may change the
part of speech of the base they attach to, and make new words through a
process known as "derivation".Derivation takes place through affixation;

the attachment of affixes,including prefixes,infixes and suffixes to bases.
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Prefixes

Prefixes are the affixes which attach to the very beginning of a base ;

"un " for instance in a word like " unclean " .
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Infixes
Infixes are those affixes which are inserted inside the root to make new

items .These affixes are not popular in English ,but abundant in Arabic.
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Suffixes
Suffixes are the affixes which attach to the end of a base or stand after
other suffixes which have previously attached to the base to inflect the

base or derive new words , eg." s "in " pens "and "y " in " cloudy " .
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+ morpheme is a morpheme whose influence in the word is apparent

while it is not existent in the word itself .The influence of + morpheme

in the past tense of " put "versus the present tense of " put " is a typical

instance for this category .
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receive

Unproductive ( fossilized ) morpheme

Unproductive morphemes are those morphemes which do not take part to
derive new words as they did in the past . The words they have derived are
morphologically institutionalized,so although having already imposed
meaning to the stem they have attached to , they can't be separated from it

and are accordingly considered as a part of the base itself , eg. receive.
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Allomorph
Allamorphs are the different symbols of the real form of a morpheme .

Negative maker "im",the diverted form of "in " in a word like "impolite"
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is an instance for this category .
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Root
Root is the foundation or the core of a word which is not reducible or
dividable to smaller parts any more , to which inflectional morphemes
attach . eg. “help “in “helped “ .
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Stem
Stem is that part of a word which is in existance before any derivational

affix ." work " in " worker " is an instance for this category .
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Base is the combination of a prefix and an unproductive (fossilized) root
which cannot be separated , thus act as one morpheme .. ““ Receive “ in

“receiver” is an instance for this category .
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Lexeme

Lexeme is the vocabulary item that is listed in the dictionary along with

all its enteries , eg . "go"," going " ," went" , " gone " .
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Grammatical word
Grammatical word is a realization of a lexeme that has partly syntactic

and partly morphological properties , eg . adjective , adverb , etc .
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Processes of word formation
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Along with affixation,which was previously discussed as a process of word
formation , there are several other processes through which new words are

formed .These processes are discussed accordingly .
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Compounding

Compounding is a process through which a new word is formed by the

combination of two existing roots, eg. text + book : textbook .
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Borrowing

Borrowing is the addition to the lexicon of one language from another
language , eg. alchohol from Arabic into English . In this process

the phonetic forms of a number of borrowed words are influenced by
the phonetic features of the target language , eg . makhazen (Arabic) :

magazine .
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television + broadcast : telecast 1 ASle .3,5T s

Blending



Ve o 05 o s 51 S 05 4 A

Blending is a process of making new words through which the initial
morpheme of one word attaches to the final morpheme of another word,

eg. television + Dbroadcast : telecast
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: superman

ubermansch : uber + mansch : uber (super) + mansch ( man)

Loan translation

Loan translation is a method of creating new vocabulary items through
translating the morphemes of the foreign words into the morphemes of
the target language , eg . "ubermensch": uber : super , mensch : man

" superman " .
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Extension
Extension is the expansion of the meaning of the new lexical items which

are created from proper names , eg . " Whitex " .
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Narrowing
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Narrowing is a process of word formation through which an ordinary
lexical item takes a particular meaning in addition to its original general
meaning , eg . tide / Tide ( washing powder )
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Shortening
Shortening is the process through which words are shortened in order to
create new words from the old ones but with no change in their meanings,

eg . laboratory : lab.\
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Acronym

Acronym is the result of the formation of a word through the setting of
the initial letter or letters of each word in a phrase together for the use as
the title of an organization, eg . Organization of Petroleum Exporting

Countries : Opec
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Abreviation

Abreviation is the process of the combination of two words by leaving
out parts, keeping the intention to represent the meaning of the full form
of the words combined.In this process the parts left out are characterized
by the symbol " ' "". eg . Hewill : He'll

The term is used for the initial letters of phrases in capital , too . eg : CIA
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Conversion
Conversion is a process through which a word is used as another part of

speech without any changes in its form, eg. to butter ( verb )

s
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Conversion
Conversion is a process through which a word is used as another part of

speech without any changes in its form, eg. to butter ( verb)

Eln!
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.nylon

Coining

Coining is a rare source of making new words through which the creation
of the new words is entirely original ; it utilizes neither words from other
languages nor from morphemes and words already existing in one's own

language , eg . nylon
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chicken @ Al .Cowl 4 §

Onomatopoeia
Onomatopoeia is a source of the creation of words through which words

are created as an imitation of some natural sounds , eg . chichen .
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\- Assimilation is the conversion of the features of a phoneme towards the

sameness of the features of the phoneme in its sequential position. (eg.

Inregular.............. Irregular)
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Y- Elision: elision is the reduction of the sound segment in utterance of a

word. (eg. Friendship....... Frienship)
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Y- Minimal pairs: minimal pairs are the two distinguished words which are

the same in form but different in one phoneme in the same place. (eg. Meat

vs. Seat)
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¢- Idiom: an idiom is a string of words for which the meaning of the whole

expression can not be determined from the meaning of the individual
morphemes that make up the string. (eg. To pull the wool over one’s eyes: to

deceive)
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o- Proverb: a proverb is any string of words whose meaning is understood as

something more than the sum of the meaning of the morphemes it contains.
(eg. There is no use crying over spilled milk: Feeling pitty can not help at

all.)
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1- Metaphor: a metaphor is an expression in which literal meaning is not

intended, and the literal meaning is completely nonsense. (Playful little lamb:

nauty child).
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V- Conceptional meaning: Conceptional meaning is the conventional

meaning containing the essential components of the meaning conveyed to the

listener by the word itself. (eg. Knife: a tool, happiness: a feature)

:Julf\.gﬂ\s cj‘) \.: Ja..JJA Q\:;l}h)‘ ol CJ)L.& 6‘;"\:"‘ slxs :é‘d&’.o 6&:&—/\
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A- Association meaning: association meaning is the connotations conveyed

by the word to associate some features in the listener. (eg. Knife: sharp and

painful; cake: delicious and sweet)
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4- Semantic features: Semantic features are the features that analyze the

correctness of the meaning of an already existing sentence. (eg. My friend

painted the wall: True, the wall painted my friend: False)
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\+- Lexical relation: lexical relation is the determination of the meaning of

the words according to their relations with the other words in the sentence,
and not directly according to their semantic features.(eg. A girl, named Rose,

came in.)
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\\- Hyponymy: Hyponymy is a feature in which the meaning of a word is

part of the meaning of another word with a vaster area of meaning. (rose:

flower, poodle: dog, dog: animal, carrot: vegetable, oak: tree, ant: insect)
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\Y- Co-hyponymy: co-hyponymy is the share of two or more words in one

syperordinate term. (ant: inset, eagle: bird,......... ant& eagle: animal)
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\Y¥- Homophony: homophony is the feature in which two or more written

words have a same pronunciation while their dictations differ. (eg. meat-

meet, flour-flower, where-were)
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\¢- Homonymy: homonymy is a feature in which a form or a word (both in

written or spoken use) has two or more irrelated meanings. (eg. bank: in
relation to tiver-bank in relation to money, pupil: in relation to school-pupil:

in relation to eye)
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\o- Polysemy: Polysemy is a feature in which an individual word contains

some related meanings as a result of meaning expansion. (eg. head: part of

the body, chief, bubbles on beer)
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\1- Linguistic context (co-text): Linguistic context (co-text) is the collection

of the words used in a very same sentence; it helps to find out which meaning
of the several meanings of a word is appreciated. (eg. co-text: He went to the

bank for a loan).
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Synonymy
Synonymy is a feature in which two or more words have such a close
semantic relationship that can substitute each other in most sentences, ie

they are usually intersubstitutable , eg . answer ~ reply
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Antonymy
Antonymy is a feature in which two or more words have an opposite
semantic relationship. Antonymy is itself subdivided into two categories:

gradable , nongradable .
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Gradable antonymy
In gradable antonymy,the two words are not directly opposite because the
occurance of comparison is possible as there are grades between the two

antonyms, eg . small VS bigg (smaller) .
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VS female

Nongradable antonymy
In nongradable antonymy - titled as complementary pairs - there are no

grades between the antonyms;the negative form of one denotes the other

one,eg. male VS female

Types of prefixes by Wigiw Elgil
Verb maker Prefixes Sl Jod srigds
en: enable enchain  encourage  enlarge

em: emboss empower embrace

Negative maker prefixes e (Ao Sbwigiw

dis: disappear dishonest disagree  disarm  disarm

un: unbelievable  unkind  unknown unlucky  uncomfortable
mis: misguide  misunderstand ~ mislead  mistrustful

in: inaccurate  insufficient incomplete independent

im: immortal immortal imperfect impatient

ir: irresponsible irregular  irrelevant

il: illegal illiterate illicit

Types of suffixes Byigus Elgil



VYo s 05 o8 s 51 ST 0L 4 A

Noun makers out of verbs I 51 e ! (Sd A guy

ment: statement arrangement agreement investment
ation: examination  consideration  information

ion: invention protection  translation dictation
ance: appearance  existence  assurance

ence: reference difference insistence

al: arrival proposal approval

ing: fastening  happening building

y: unity discovery

Noun makers ou of adjectives o 3 Hlw !l (SN gy

ness: whiteness fatness happiness
ship: hardship

hood: falsehood maidenhood

ity: timidity scarcity  tropidity
dom: freedom wisdom
Noun makers out of nouns ol 31 3w ! (SN guay

hood: neighborhood childhood manhood
ship: membership  leadership citizenship  friendship
dom: kingdom

ist: botanist geologist biologist

Adjective makers out of nouns ol 31 3 S (SN g
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less: faithless careless hopeless

some: troublesome

ish: childish foolish

ible: sensible

able: comfortable

like: manlike

doubtful

ful: lawful careful

Adjective makers out of verbs

less: restless fearless

able: readable  changeable eatable

ive: aggressive exceptive active

Noun makers out of verbs

er: player lecturer writer teacher

or: actor visitor ventilator

ess: actress

Verb makers out of adjectives

ize: realize legalize familiarize

en: shorten loosen fasten

Verb makers out of nouns

en: strengthen lengthen

tighten

senseless

faithful

I8 3 5l Cdo svaigu

8 31 3 el (Ui gy

o 3l jle e (svigus

rationalize

lessen

ol 31 5k 28 (Slviguy



Sl o wy g

dox> oL



oy b VYA

CONTRASTIVE ANALYSIS Sl dblio owy g
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Contrastive analysis deals with the similarities and the differences between
two languages regarding various aspects .The study follows the goal to help
the translation or the teaching of the languages .The subject is carried out
through the study of the sentence formation processes in the languages. To do
this, all same elements in the languages are compared to find out the similar
and different aspects in order to prevent wrong interpretations in translation.

The process goes on as the following:
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A= Word meaning: In this stage, word equivalents, regarding their social
and cultural aspects are studied. Words like “suburb“implying the wealthy
group of some societies are socially studied to prevent just a denotational

equivalent which implies a poor group in some other societies .
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B= Word use : In this stage,semantic functions of the words of the languages
compared and contrasted are studied . As an instance , the domain of the
word “ bozorg “ in Persian is compared with its English equivalents “ large ”

“big “ and “ grand “ which have a more restricted domain .
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How many miles does your car get to a gallon ?
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C- Sentence semantic functions: The goal that this stage follows is to
analyze the sentences the translation of the components of which does not
represent the current equivalent of the sentence in the second language. Here,
the translation of the sentences like: “How many miles does your car get to a

gallon? “are studied .
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D= Language rules: In this stage, the rules dominating the two languages
are considered to study the deletion or the addition of some of them along
with the expansion of their application. Article “the” in English which does

not have any equivalent in Persion is a subject to study in this stage.
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The comparison and contrast of the sentence structures in linguistics is

carried out in “Traditional” and “Generative” grammar .
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A= Traditional grammar : This approach deals with the definition of the
sentence components such as nouns , verbs ,adjectives ,adverbs ,etc. along
with the function of subject and predicate . Contrastive analysis in this
approach deals with surface structure and mainly sentence structures to focus

on the similarities and differences between the sentences .
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B= Generative grammar : In this approach , the comparison of the sentence
structures is achieved regarding the initial sentence stage , ie. deep structure .
To do so , the deep structures of the sentences compared are determined and
sequentially , transformations leading to the final surface structures of
sentences in both languages are compared .In other words ,the syntactic rules
which lead the deep structures to the final surface structures in both
languages , and not the elements in the surface structure , are compared . This
approach necessarily focuses on the transformation rules that create the

surface structure which may not be somehow similar to its deep structure .

tde
The red apple is on the table . ( C=Lug ;)
The apple is on the table . The apple isred . ( C=lw 2, 5)
The apple which is red is on the table . ( J 5w 30 & )le)
The apple red is on the table . ( J o 30 Soyle 2alS)
The red apple is on the table . ( Lol g 4kex)
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The selection of either of the approaches depends upon the goal of the

researcher . In the traditional approach , the researcher analyzes the sentences
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and describes the language patterns and language elements regardless of any
reference out of language field . In generative grammar , on the other hand ,
the researcher focuses on the language - thought relations as well as the
relationship between man’s cognition and language . This approach confirms
that language subsystems such as phonetics and grammar should not be the
mere ones under emphasis ,but other similar means to convey the meaning

should be focused on , too .
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Model of Generative Grammar : Problems

A major problem with generative grammar in contrastive analysis is with the
analysis of transformation rules . These rules merely deal with the syntactic
structures of sentences and represent nothing about the inflectional intractions
or the interrelations among the sentences used to create a real communication
. Even the “ Standard Theory ” does not specify the simple differences
between the sentence structures of the languages and does not focus on

details .
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Comparison stages of the subsystems in languages :
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A= Selection : A selection of the sentences to be compared across languages

is done according to one’s language intuition .
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B= Description : Structural rules applied to the sentences are analyzed and

described .
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C= The analyzer seeks for the the similarities and the differences laying in
the semantic field and the distribution of the parameters as well .Regarding
Persian compared with English in the form of plurals , the researcher comes
the plural bound morpheme “an” (for human being) and “ha” for nonhuman

being while in English he comes to the plural morpheme “s” for all with the

[T L TR T}

allophones “s” , “z” and “iz” as the preceeding examples .
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Then he will come to the singular and plural form of the noun after the
quantitative adjectives in which he finds all nouns singular in Persian after
the quantitatives while he finds the nouns plural after these adjectives in
English .He concludes that in Persian, the noun stands plural only when it

stands before the quantitative adjectives.
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D= Prediction :Having noted the similarities and the differences,the analyzer
notes the unshared parameters in the languages and studies their influences in

translation . In this stage , behaviorists set forth three hypotheses :
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{- Strong version of the Contrastive Analysis Hypothesis : Behaviorists

believe that in learning process , the principle of transfer is at work in the
levels of learning and the effect of learning . The principle has two aspects:
positive and negative . Positive transfer takes place when learning the second
language is the same as learning the first language where the simplicity of the
learning process helps the learner to make use of his previous knowledge of
his first language in learning the second language . Negative transfer , on the
other hand , brings about difficulties as a result of the interference of the
differences between the languages . These difficulties are dependent upon the
existing differences between the languages . According to the principle of
learning , the learner’s reaction depends on the substitution of the parameters
which do not exist in the first language . (eg.the substitution of “k” for “kh”
in English)
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Y- Weak version of the Contrastive Analysis Hypothesis : Rejecting the

interference of the principle of transfer in learning , a group of behaviorists
believe that the conversion of the differences into the similarities ( eg. “k” for
“kh” in English ) is the reason of the learner’s failure to use them and is not

relevant to the function of the principle of transfer in learning . Thus :
This group of psychologists consider the first language parameters as a help

in learning the language and not an interference .
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Y- Moderate version of the Contrastive Analysis : This hypothesis notes

the prediction of the errors made by the learner . Considering the substitution
of the parameters existing in the first language , it sets forth the principle of
stimulus generalization in which the previous knowledge of the learner in the

first language extends in learning the second language . This hypothesis
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states that learning is based upon the categorization of the abstract and
concrete patterns and thus whenever the the differences between the
meanings or the forms are not many , the occurance of the mistake will be
rare .On the other hand whenever the patterns in a two language systems are
similar in function ,then correct generalization takes place .As an instance to
explain the generalization of Persian patterns in English , the errors made by
a Persian native speaker using the English patterns with no similarities , are

fewer than the errors made when the patterns are similar.

Aas oo Siilae Comdly b1y 5 ols ail oS o al> e plys ol — 0
Josos sl v g ol oo i slalbs £33 0L g 0,815 LT &5 5,4 Cpalasls
:;,,..w,;L;,j,,zﬁjyvﬁdgujT&(uglu,d\ 23 b des el
E= Verification : The researcher here adapts his findings with the language

realities to see if the learner commits the errors predicted by him or not .To

do so, the following test is inevitable :

Lten b and Objeays & glajbsle O blaw sl g (& Ao 40
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3 dal g g ale e 1y ISKEa b p53 0L el

Level + — Some similar sounds , words and structures are selected . The

learner comes to no problems in learning the elements of the second language

as the positive transfer is working .
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Level Y — Coaloscence : Two or more items in the native language converge

into one item in the target language . The learner has to overlook the

distinction he has learned in his native language .

student Sl Ll L gedils ke

cousin o3l gl L esly Al L oslians L 0l see

2 Sl gmly e 0L 02 S et s sl Dol 5 98 (S Ay
S5l sy e Ol w . A8 a5 OT 4 bl 05,81 55 3, 3 42 5 Auze 0L

258 g 8 el Jolre T ki 5T S e

Level Y — Underdifferentiation : The equivalence of an item in the native

language is absent in the foreign language .As an instance ,for the Persian

words “chandomin” and “magar” there are no equivalents in English .

MS:)\::f)wj\@opj):Jm):@jjdgi::.lqmﬂi?—duéctb}n
L5 53 s b Cals alaly 5 0T 08185 Wiph (oo Jolan KaSS L Syl 28
RS R R S PV R PR IR E RS Jc d\;-ouj@,:.u.x,amwm Oy

ol

Level Y — Reinterpretation : An item which exists in the native and the target

language .Sometimes they are equivalents , but other times they are not , as

the following examples :
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We have come to school today . - oo duyde 4 59,00 Lo

We are sitting in the class now . . r.;‘ wrndid WIS 53 OYI L

0L3s3 o 3,13 3 s deaie OL355 55 G5l b Ssls — g (S 4y
B Jl 0l 0T (5 wises + 3,5 3L 1) 0T Wb ok, 815 5 3,10 3509 Idee

L 3 gy g3 OT Jslanylist o &7 ol _adSSlys () aal

Level £ — Overdifferentiation : An item in the foreign language is absent in

the native language and the learner must learn them .The English structure of

“future in the past “ and “+” in Persian phonology stand in this category .

daie 0U355 i Lz b 53 e 0503 w55 oSG sl SIS @y S Ao 0
4) eSS U355 6l pazl by 03l Jl Olej g (35 OT & @sad 25025525
(e O3 Ol 4) g3 0353 (6ol poln Olej &G 555 5 (Meae O Ol 520
RS TRC Y TR e P PRNCSICINE B EeR SO S )
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Level 0 — Split : An item in the native language diverges into two or more

items in the target language and the learner must learn their distinction .For
instance , as the following examples prove , the distinction between “ the
simple present tense “ and “ present continuous tense “ should be noted by

the learner .

Where are you going ? I’'m going to school. 030 (& e Sy o S s
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Where do you go every week? I go to the park. £ ES LSS5y oS 4 a

chief , boss, director , chancellor , chairman , principal : .3,

Sex Sy ylsle (6 Awlio
Comparison of the Syntactic Structures
@y dax (G5 Syge &5 AIS o0yl 0L 1 slaslpl 4 (e slaslile
B Objss o (6 amslinyny blisl cplys s o LU, OT Sles &5

P8 a5 amlin 3550 5 Sl 033 Objss ol slaslitle Kl

Syntactic structures imply the devices that convey meaning and relationship.
Regarding to this , the syntaxes of Persian and English are compared in the

following fields :

2B O3 ol (6la 03 5l lays ol (g dtun? SS9 i § g ol — I

C_,.w‘Jﬂ)‘v\.ﬂQT;K,;‘:;k;u:lit‘)bgéujbé‘ﬁf@)‘}dﬂj‘y
\. Word order : The core of a noun phrase in Persian precedes the modifier
while in English it succeeds the modifier .

s Jke

garden flower domsls Jf

flower garden Jf & 4=l
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Y- Inflection : Inflections are the affixes that indicate number , gender , tense

genitive case and comparison . Regarding the comparison of English and

Persian in this field , the results are as the following :

por S Sl Chol e S gla el 4z OT 4 per g P PR
2 OL33 b Cdo I3l g ol JSC0 4T U 53 555 m 03553 45,8 el 3

Ll s J.G.A [ )‘ B
A= In English , and not in Persian , the inflective plural suffix is attached to

the noun standing after a plural quantitative adjective .

s Jke

seven flowers Jf Can
.J)‘JJ})?)‘SN)L;)J HW‘JJM

B= The gender inflective suffix is gradually disappearing in English while

this suffix does not exist in Persian at all .

s Jke

actor / actress K
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C= In English , the past form of most verbs include the suffix “ed” attached
to the simple form of the verb , while in Persian , the past form of all verbs is

made by the deletion of “N” from the infinitive .
sk

jump +ed ------- ptommmmmmm jumped L (ool op)

come p.t. came LT (bl o)
Bl (5 0 S Lais uylbys Lol 355 o osls lisOf 7S r,\g;.gjukﬁli;b; -4

Lgs b 3,8 oyl 3 oslimal 34 shie ol sl

7313

D= In English , possession is indicated by or the preposition “ of “ while

in Persian , possession is indicated by “ e *“ attached to the noun .

s Jke
Daniel’s book Juls obs”

:ﬁf@ plxl most 5 est L e s amslinger ymore g daulin Gu.z.li;b.a -0
ot 5 ) 1y 8T S S gy BB s o Jl s o
Ay o8

E=In English , comparison is indicated by “er”” and “more” and superlative is

indicated by “est” and “most” while in Persian , comparison is indicated by

“tar” and superlative by “tarin” for all words .

s Jke



ey s 0L o s 5l Sl 0L 4 A

larger / largest o ESTNAr-BY

more beautiful / most beautiful R A A"

B Obj 53,55 35 Jeb b Sy b (S0 Sppe f Spse L LU 2

ol s S 4 I
Y- Correlation of form : Inflection of verbs in English and Persian regarding

their subjects is as the following :

B 3 Il oo mexr la Jobb romen 53540 Gl Job gl Jab e )

A= In Persian , verbs are inflected as for the third person singular for the
plural form of the nouns denoting unhuman being , even if they are plural ,in
other words , number does not influence the inflection of the verb , while in
English , the verb is inflected according to the subject in number , no matter

if it is human being or nonhuman being .

s Jle
The list of the books which is good is on the table .
The list of the books which are good is on the table .

are&é(jsdw):)amgﬂwbp‘\fthelist Jebb sl 18 (6 aber 5o
Jeb U b 3l s bl ol 5503 5l 5~ Jab Jslthe books illas
Bl sy Slle pl 300 (F )3 eyl bl Conl Oolad - Kos Jelb b

.Jﬁa&fjjbakjsjaw%}a .l.;l}:@
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In the first sentence of the example , “is” relates to “the list” and in the
second sentence , “are” relates to “the books”. In Persian ,on the other hand ,

the verb is inflected singular which can cause ambiguity .

AL&)JOMJJJL}M 44 v\.v".wi Ji.zm J.ijhé.a Lfﬁdwu sw)‘éjb -y
tlimal 4= b Jebb (g aen sl JUbl 2o cedlys &7 Jlo 55 358 o s

sl QLSS sl o Ole3y3 3 ke aind o g Jolb (6l 0d 50 ol Jb

B- In Persian , the subject influences the verb with a subjective inflectional
suffix , while in English , this suffix — except for the verbs inflected for the

third person singular in simple present tense — does not exist .
Dk
I/You/We/They play .

S o ST S bl S e O S S e Ol o

LT o led 4 28 085 dSl i oy sl 4edST 1 2 085 s
J.a;k;aﬂfa@L@.ﬁ.’-’.w‘Qlfj‘)oyﬁjésw)bjbuwd‘ggbjb

¢- Functional words : “ Wh ” words in English syntax are considered as

functional words while in Persian syntax , they are considered as question

words .

Daniel came here. Who came here ?
(25 s oj15)
$ sl LT S et T JLls
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which , Jsosn nless ¢ 5550 udSil5 Jposn sla abeor o Uslae (sla sl -
Sl S S s g8 e Jo2s cy6)5 45T b 55 AS” s o5lezsl who, whom , that

3,8 ol 5 oslinul 5y 50 5 skite ol

o- Equivalent structures : Relative clauses in English benefit a variety of

relative pronouns as “who” , “whom” “which” and “what” , while in Persian,
the unique relative pronoun “ ke “ is used at the beginning of the relative

clauses.

dil‘)\:{ Gy S syl g duﬁlij\ 0L s ¢l odeld 1 Jolae e sla bl —
ssbie cpl gl edsls &S bbb )s Lol )sT (oo by w0 1) psime Sl iy gt

Dl g;‘“:'li."JJ Jsgzen 4> 9 cj}?QTL;La d}dj\é.:)\ssﬁ-}
1- Unequivalent structures : A structural rule exists in English syntax which

enables the expression of one meaning in three different structures , while

this rule does not exist in Persian syntax .

. C g = . -
They believe that Daniel is clever . c el E55 55 Ul 4T Wdiias L]
They believe Daniel to be clever . otk koo ok otk kol
Daniel is believed to be clever . ARk ook

6 8 Ly gl odels sy I O3 538 1 aler gls o3le 05 S ,ls Ol —
Jles! LT 038 5l 0l gl pleze sla 05 5 (g5, 1) 5, Shes &S5 0T &S
dLS;! o}v 2y kSL’o‘ L;Lh a)Lw CLJ dLS;! @Jb QLU)J odels U‘.'.‘ bﬂ)‘s . .L.Sda
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V- Marking the sentence constituents: There is a rule in both English and

Persian which is applied to a constituent to mark it. The application of this
rule in Persian is for all the constituents — particularly the object - through
their displacement to the very beginning of the sentences. In English, this rule

is applied only to the adverbs of place, time and request, and not to the

object.
He wrote the letter yesterday . Ll gy asl 3g s
Yesterday , he wrote the letter . gy aab sl 5 s
## The letter he wrote yesterday . CCbg 595 ol 1y sl

cusw)‘éjbd.o}.-ksL.obL'b'-LdL:L&)bﬁ-Ld@))JLL:.T)‘ZL&O}@@)JJJL’&-LAI*C

ol eSS S plize ai
My friend and I 93 9 o

A- Internal structures of the constituents : In English and Persian , the

interrelations of the internal structures follow different orders .

OT Ko b ojle b aler ¢ slo o3l S,m bls,lila ojle g sbsle—b
Pl 5 d el b slks

4- External structures of the constituents : The external relations of a

constituent with other constituents in a sentence follow the following

principles :
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A= In Persian , because of the subjective inflectional suffix , the subject can
be deleted from the sentence , while in English , the deletion of the subject in

a sentence is impossible .

I went to school yesterday . Cdwyde 4 V’é’ 390 e

# # Went to school yesterday . e yde 4 r:.é) BT

w)lé)J ".:.E.’.'MJ:FJ}’LM)‘ LS‘ c)'l.w g_g“‘:li")-’mmkj‘}wéu°)\”‘)‘fj_“
e

I believe them . ookl gTa
B= Some “ direct object ” constituents in English are “ indirect object

constituents in Persian .
I N L PR PP S W L ST N W B W PV o

George lives a comfortable life . . 45" ; SRS

(J}ﬁiﬂdoj‘.«') (s g o5l)

C= Some “ adverbial “ constituents in Persian are “ object “ constituents in

English .
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\+- Transformations : In this stage of syntactic analysis , the differentiation of

the structures compared is considered due to the transformations applied to
the deep structures to create the surface structure .

sdle
The red flower is on the table. el e 9y F e J?
(Cslugy)
{The flower is on the table . The flower is red. } & Jf VTS Jf

(Cxle 3y)) Lol
{The flower that is red is on the table .} . <l T Sl jan S5y &S u‘f
(30 50)155)

{The flower red is on the table. ( Syose mals,lid)

}************************

The red flower is on the table . ( Ciw Jsl 48 ) . ol jo (53, CJ“J?

4.1 w)&)b)ufjbj A‘Jé)b’gwyb LQ‘A 4.1.4;:- C'_,}'-ijj 6; Jgj;)b
b Dgad L 35h ool by S JUislHkiSs leds Jlesl Ctle )5
LSS sl (o5 5 oks Jlasl (g U, 1ni8 sluws LT s o8 Lyls3 55 0L 93,350

e

In the surface-structure formation of the English sentence above, three
transformations have been applied, in contrast, the equivalent surface

structure of the sentence in Persian has gone under two transformations.
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However, there are instances in both Persian and English in which the

numbers of the transformations applied are the same.

s Jke

The flower on the table is pretty. (Calagy) L Cwl o) sm g Jf

{The flower is pretty . / The flower is on the table .} ;» 3, Jf Sl L) Jf
(Csle Coy)) ool

The flower that is on the table is pretty . Coul o) Sl 5w (g5, &S dlf

The flower on the table is pretty . (| J s 30 2alS HE8) Ll L5 e 69, Jf

283l OT Ol 855 e IS5 g0 ol 5 STl shater dhor KaT-
LSe35 Sa5 T s i 303 sy e Olys ol Cls s S
EN3p psb 0L olgial la addST L ekl T iy ls dler Oly)s
— asme Sy b S Ll e w ) g3sme 5 JsF -3 sme

g5 o odalin by dles wtws plglsl s Jo 5

VY- Intonation : Intonation refers to the music of a sentence . There are two

major patterns of intonation in English and Persian: rising-falling and rising.
Rising intonation is used for simple questions both in English and Persian ;in
“wh” questions , however , English uses a falling pattern of intonation while

in Persian , both rising-falling and rising patterns are used .

Lg)}';ﬁ.\ﬂ} Ldujz.’.'v'm ”L.JL.G w)’a’ﬂ"@‘#ﬁg&b“dﬁ“)

s o Sk e el Sk el ol ok gy Lol alouil s 4dS”
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VY- Stress is the rising of pitch on a syllable in a word . In English the shift of

the stress usually results in a new word with a different meaning and a
different part of speech , while in Persian , stress shift very rarely results in a
new word . This shift sometimes causes markedness in the sentence .
John drove to school yesterday .
o dal g Who i s 4y el John o 2l
<35 dal g where e ;4 =l school ;v 2l

.3y dal - when i s 4 @L yesterday sl

Stress on “ John “ is an reply to the question with “ who .
Stress on “ school “ is a reply to the question with “ where .

Stress on “ yesterday “ is a reply to the question with “ when .
G sl 0 8 L 08 15 shsl pBlas Soe ol ST iy Sl sk s S

.Jrz@t&df:‘é:%}ﬁ&gk{a&‘)w)udgjjﬁﬁjﬁ&.@‘w-

\Y- Pause : Pause is the relative length of silence that one uses between

words or group of words . Pause sometimes results in a new meaning in both

Persian and English .

%Sw‘.»\.c‘w" *C)Y' M"w}b)bdb

SIS halael !u;“g(aﬂums._g

twenty , three cent stamps (e A oS S k;«:15;\ o Jka

twenty three , cent stamps o ES el Ay s
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Comparing the vocabulary items

S b syla50 3 0305 053 oS (sl ooy poede &S5 53 WL )l 0L ol,S 1
0L S0k ol e Olyphe S Ka b b psghe nl & LTSl dies e
prtie wsw Sl A8 o b 1 0L 0T (olezr) Ban 3 b (s LT (25
sweet  glas 4 ”léfp.\.llfja.\}ﬁﬁjé}uﬁga:liﬂ):&.%é): s g ads
6 adlas ulal cpl o ST ey OT dlll Cow 1515 sl 0Ll 1 e dssoup

Dagd g plail 5 e Sl 03 05 93 SBT3l le S 5 5 083l

Foreign language learner usually come to problems with the meanings
implied in the words . Since the implied meaning is combined with the
culture of the people speaking a language , familiarity with the culture of
these people is necessary . As an instance , the meaning of “ shole zard “ in
Persian something much more than its denotative meaning “ sweet soup “ in
English ; there are some cultural aspects which have been mixed with the
denotative meaning of the word . To study these aspects , the study of the

words is carried through the following stages :

cata.uf apple . : L;jbi]&hajbgd&‘%*d‘

Lol

3

A= The study of monomorpheme words like “cat “and “ apple “.

blackboard ol 4w text-book w3 ST S 0 O 15 6 anllles— o

T dsle
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B= The study of compound words like “text-book ““ and “ blackboard .
school teacher Ay )lfj}aT DSl Grie S e 0515 ¢ axdllaa— z

3

C= The study of compound derived words like “school teacher .

Every thing that shines is not gold. L;stJ.m: b b Rl O, (6 andllaa— 5
aiei 3 8

D= The study of proverbs like :  “ Everything that shines is not gold .
burry the hatcher 05 S ads aaks s Tl SNl (g adlas— o

E= The study of expressions like “ burry the hatcher .

make a decision u,&_)?v.w...a] Tl d’\fj\j s S 5 gadlas—

The study of idioms like “ make a decision “.

1Ob3 98 U319 S dwlio Sla eI

Patterns to compare vocabulary items

s SE 35 U aulie )50 0L593 O S15 (s 0 nl3y5 1wty oa OB 15—
.MVAW)MMQJM.BBJJ\J.UJ\:
door : s :Je

4 Gk ol fany Sjge Bl e g 0L s eSls & Il Ll s
ool ST 5 dals 5 esle 55 0T (6,850 wsb axsls 3l 0b3ys 555 Jsles

T 5,8 ol pmens ¢ isleg blol odSs s erys (S ons o
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A= Cognates : There are a number of words having reasonably similar
pronunciations and similar meaning in the compared languages .The
assumption is that the more similar a foreign language word is in its form ,
meaning and distribution to navigate the native language , the easier it is to
learn .One basic difficulty with cognates lies in learning the proper frequency
of their use . For instance , the word “leg” is of an ordinary currency in

English , while its cognate “leng” has a negative implication .

@\ﬁwsmopjpo@;béeﬂu);&uw:&éuaﬂ,ﬁfg
by dig op ad Mol b gline Bladilel disl 43 KuSS b &) Sld
S A4S 05 oSS Sk ales 6 S ey ol Sl KL o8 Cals
VS IN ST PPN S ISP
car L, class S s ke

B= False or deseptive cognates : These are words which are similar in form
but may be different or only partially similar in meaning . This feature not

only doesn’t help learning but also may cause problems in its process .

Llo 31 45 dzen S8 5151 015 gl [ KuS Lo3ly oy gurys oS o laline >z
Soslize 035330 S5m0 6T (oliaasl bl g Jslae 0L pafiiiend & 55 e
bl a2l Gaded b Lol s a5 5505 oS 5 SIVS " Cgs e Jle (gl S
b 3 aalS ol slme 5l Blod 1Ll el E5 5 (65 4 Comrana s ible i

cdas oo s e o 1) 0T 45 558 o ol 5 (55 03 28 (505

C= Words similar in meaning but different in form :These are the words

which are in fact equivalent , but have different implications . For instance ,
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the word “doost” in Persian equivalented with “friend” in English refers to
a person whose compony , interests , and attitudes are sympathetic and to
whom one is not closely related . However , in both languages the words

have some further senses which are rooted in the cultures of their people .

line &8 Len Ob) 533l SE50s 1 digls Jseme e gl &5 ols aadS —
é..\})bﬁ: objsecond floor by " Jsl aads " 0T dslaay 53 Coylaia
T arls 93 5 083l 5les Sl owlid Las g 05gm 53 . Sl OT (Sl &g

.JJ}Q@@JJ.: ”“}?|3L§L“L:*“r‘°”} Wg«.&&‘ﬁwrﬁ

D= Words that have strange meanings : These are the group of words whose
equivalents in the second language are odd . For instance , the first floor in
Persian is equivalented with the second floor in American English . In the
field of semantics , these words are studied under the headings of

“convergence” and “divergence” .

Sline b lios OL35 o315 L bgd (slime 0T 53 a5 Sl ool 5 1 1 Ks (sla Lina 2
C3gh oo dolas deaie 0L 43 05l SO

\= Convergence : It refers to a situation in which two or more concepts in

native language are equivalent to one word in the target language .

s Jke
drink 055 J 055 e D5 Ok

bss glme b Ie 0L355 o3l &S5 (sline 0T 3 &8 Sl oyl 5 :bfbéuuuﬁ
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Y= Divergence : It refers to a situation where one concept in the source

language may be divided into several concepts in the target language .
Dk

big , large , major , grownup , great &£, 5

WalS Slae 0T s &8 Gl ol o 1 (gl aelST i Jladly b 031y 0SS JSKi — o

355 gn Jslre e 0353 0315 5 (glima b s 0L s o315 & 6, o slie

E= Phrasal verbs and unfamiliar way of coding the meaning : Here ,
metaphorical extension is the case in which languages exhibit differences .
Therefore , different meanings of a word are equivalented to one word in the

second language .

tde
It’s a dull knife . C sl A4S gl 0T
I feel a dull painin my hand . V'(G“ Ju;l (3> (gadeial )
It’sa dull colour. il b K 0T
It’s a dull book . s a.x;:_f_w oS of
He’s a dull boy. .u;,.«|d§:>‘6,~73\

S5 e sos Sl-Mans! ol el V'ﬂ’f 0L 93,3 @b OlMasl 5 Lol i ol
OFLE o Lol e ol pen LIgT Job o 55 o JSU5 Lol o oS5 5 b
CM‘ QT "J".' 44 ‘)’.' LQJLw d}‘;u 9 ab; J.S.".w CM|JAJ) ‘) u.ol}- @LN
This extention dominates over the idioms of the two languages as well .

Idioms are normally composed of a verb and a particle . The verb , when

accompanied with a different particle , usually denotes a different meaning.
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This makes the translation of the components of the idiom to grasp its meanin

impossible .

Dk
look 035 & look after s S =uél look for 05 57 st
call 055 e callon  (3j ,w callup 03 ol

3 Shes 3 K cpl s diloy o 0L 93 53 1) Galite o sl glins 57 SE 55— 5
ol il ol Ole (Soap gle D5l (5 o 0L 0L pedays O3l
OT Usleelsl azils blisy mod s CI¥s cwybys "Gl 7 (6 oily @sei sy
Lgajt,r,@o@ipé4;,.;.5@;&“,6;};\3}6,@M,s.,,fatmlfa,;
Sl Fyeme S 5 S K el 5 0SSl la, 55S” 6Kn 5,5 45T Sl pub
b 4o gian S 0L 1 Kan 553 ol 315 Ol 53 SBMe imman 5 Slg e 03 45

AT ke

F= Words with different connotations in the two languages :These words
reflect cultural differences . For instance the word “chagh” in Persian
indicates health and freshness , while its equivalent-“fat”-in English indicates
illness . The same way , the word “pub” in English indicates a bar where the
friends gather to meet and have hot drinks , and spend some time together,but

in Persian,it indicates a blamed place which is forbidden to go to .

0153 48 ol Jaal a1 Lyl 2l amelr & ol SLlar 43 a8 SE 50—
Ly o S 4 el sk SOl sl Soslize S8 05 eSS Ol sk S
gasoline 15 ol 5 5 petrol oldSSl 53 " psu " 6 ol Jslee ol K550 (5l
OL5s sy Jslas 8 e 0L 5B 50s sla S5 3l amas OT cplp osdhe .ol
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G= Geographically-restricted words : These words demonstrate the case of
language varieties . For instance in Brtain ,the word “petrol” is used for the
car fuel , while in the United states , the word gasoline is used . This feature
reflects a combination of geographical and cultural differences .In addition to
this , those group of words which do not have a precise equivalent in the

second language are categorized as the following :

03 dolee ol oSG Lo dae 0L5 S5l sl 0s 5 5 e S S )
A ls a0

grand child o son in law slals in the morning =

\= Some word expressions in the target language have only one word

equivalent in the source language .

35 ol g oly K ki e 0L SE 55 gl oy S s oS5l S Y

L Liyls dada 0L

suit  Hlgs 5 o8 furniture LI 5 Ol bed Ol

Y= Some word expessions in the source language have only one word

equivalent in the target language .

S b edins S5 il Slian Bloddjl 1 05 S8 515 sle oS 551 S Y

Ll Ssle deaie 0L 0851

newspaper 4eljs, heavystorm Lddobg  manand wife j»4i 505



=y Jed oA

Y= Some word expressions in the source language differ with the target

language in the components composing them .

Sl S5 dolan b g Bl e 0L5 SE51 sla oS 5 St

L ,15 sl ez O

¢- Some word expressions in the source language differ syntactically with

their equivalents in the target language .

fountain pen o S
nnou  noun e
wrist watch o ele
noun noun e V...:l
salt and pepper e Jals
noun noun conj Cdo

Sl S 5555 O 5y ol b 1e 0L SE315 e oS 551 (s 0TSl oo

DL s Az 0L S5
0- Word order in some expresions of the source language does not adapt with

the word order in the expressions of the target language .

day and night 39y 9 you and | F o
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fork and knife JL<> 33,8 the boys and the girls s juy 9 by 25

O3l Sl Jolxe
Word Equivalency

13,8 o A st 3asm kaslez s o3l a sl Ablie ety
In contrastive analysis every word is studied in the following stages:

oSl b s asls,y ofly s sl o 4 e ol t 29T —
GoSls 93 sl wsed (glp . das ol ww;,yo;ufduct,@mﬂ;
bet Lg\.&c‘jja /p/ s/b/ de £33 ij)h\fb(’_ﬁaéd C‘ﬁdsc'““&“ﬁ'li’;|

. Cl pety

A= Phonological : This stage deals with the phonological structure of the
word and studies the word contrast in the substitution of various phonemes .

It notes that , for instance , the difference between the words /pet/ and /bet/ is
in the phonemes /b/ and /p/ ( one feature in difference : the former voiced and

the latter unvoiced .)

,\;w,ﬁ;,ycu.uab;ap,;ohﬂ@,w,gajt,u:‘a:gsyu'—g
el 51 03l A witls 0T w0 iy & 4T wlolp s o5 ol w5, o
.J;@)‘}QJ%JJﬁM}JJﬁ&LMJ‘&f&JL&L&

B= Syntactic : The function of the word along with its function in the

context is studied in this stage .
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C= Pragmatical : The use of the word to convey a direct mean or to transfer

an implied mean is studied in this stage .

o5 Lpd oo bl g s 3l Ol glne slo aix ¢ glmo -3
Ssh o s p LR psghep OT SOV odd Lo slae Ll éﬁ» ol
S sS Gl 4 ojly olme ol G 4 6w ol ol sl Sal, 5 S

Ll OT (5 o |5
335 lyls The policeman chased the thief . (¢ ae> s chase (¢ ojls Jie g
I, chase sbu,av\.&rl.&-atr.a);afg;ww;;ﬁi;w: 5 05,5 dUs glas jltle
bl ol 3l s g chase (sl 3 8w (6 1ol (owiyb)s Ll dias o Cows 4
S aps Myl el OT alie gla ojly 5 edly ol bne S,
@MJu.-;b;ugugT@MmﬁWﬂ&;émjuwT Sl sl L
gpjj;,“;guVAL;udauw,wgﬁuaujtﬁf&uﬁﬁ.@|w|égb

.J)‘.Ujj?) (a).} QL)JJC*«!‘ ol %}ﬁ‘) d)‘ g_)l.:))} aj\.w Q}Lwﬂ\fd‘ ode B

dead man S

dead animal aY

D= Semantics : Semantic aspects of the words in contexts are studied in this
level . Here the word is semantically analyzed to clarify its specific

implications . A procedure to this goal is to analyze the semantic features
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composing its meaning . For instance , the word “chase” in the sentence “the
policeman chased the thief ““ is composed of two semantic structures : follow
and arrest . These two features have mixed to make the meaning of the word
“chase” , but there is no word alone to have these both features together in
Persian . Thus the way to translate the word is first to analyze the word into
its semantic features and second , to collocate their equivalent meanings .
Sometimes , however , the rule due to which the word has been made in the

source language does not exist in the target language .
asls Sg9dey e LS‘ Lals S ...b):f & o 64&‘;5)‘ ub)jzjm Q@j‘ ‘SA\? E)
o1 i 1 0T 015 el

And sometimes , both languages have rules with restricted domains which
can not be generalized .

s dle
popular + ize ----------- popularize
similar + ize ----------- # # similarize ( simulate )
025 Slrmmes 025+ 3L
() 035 wn BH —— 035 + i

S wals Cusgdoee L OLG 93,853 o5l (sl slee sl Cli;a ol ol
.:\:j}e;jsj‘,.a\)vl.c\‘,éabﬂw

Therefore these restrictions should be noted when making word equivalents .
Discourse Analysis Olosds™ fulxs

2103 3 ol OU5 (ol dmalr (5 035953 O3 sors 5 4allas DLz ilowi § 55 50
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The subject of discourse analysis is the study of language in the field of
sociolinguistics . Here ,regarding the social status of the sides of speech and
their common knowledges , linguistic signals including the speakers’
knowledges about the presuppositions as well as their emotions and thoughts
are considered in the conversation situation . In linguistics , discourse

analysis is viewed in two fields : “code linguistics” and ” human linguistic .

OT 53 o8 ol ol ol &S5 Olsie @ 0L a5l ol 5 S0, 0 30 (ol
xR L;wL.Q Cb 9 L;wL.QL:.& ">u Qlfj‘) o}.v‘) “ QT L;b;—‘ a‘fu\ijﬂ GL;) Lf:""":

. J}fb <
Code linguistics : It deals with language as an abstract system and is

involved with competence distinguishing separated components of language

such as syntax , semantics , phonology , and lexicon .

OT 03 a8 ol (oo pls &S5 Ol gt & 0L 4 a5l ol 380550 (Sl (owliliib
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Human linguistics : It deals with communicative competence , considering

questions such as “Who is speaking to whom?” ,”When?” , “Where?” ,

“What activities are they involved in?” ‘“What is the aim of communication?”
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This sense of linguistics stands within the domain of pragmatics which deals
with communicative competence . Human linguistics tries to describe how
the speaker implements his communicative intentions , how the hearer
deciphers thespeaker’s intentions , and how these interact in particular
situations of communication . Therefore , the communicative aspect of
language is of a higher attention in this sense . An instance for this is the

following question and the answers to it :

Why don’t you call up your friend? ¢ 5 oo il Cawgsa | o= iy
Because I don’t have a telephone. el OO g — A @L

That seems a good idea. Sl 55 Mgt O by

15 070 & 3,8 oo liiss digw &K Olge 4 By 1y Sy 6 dlor I el
ﬂc""}’b&"ﬁda‘*’.' - éﬂkb‘@|&ﬁ)|}(@»|aij
ol a3 8 s sl oS Ol e w5 (B

The first answer takes the sentence as a simple question in which the adverb
of reason is quested ; the second answer on the other hand , takes the speech

act into consideration and considers it as a suggestion .
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As indicated in the example, close relationship between language functions
and language forms prove the vitality of the linguistic study of similarities
and differences of languages in a participant-oriented approach . In this
approach , language elements are considered as components which are
dependent upon the oral aspects of the language to develop the discourse .
There are other parameters to be noted in this approach ,too ; ie. the
procedures used by the two sides to develop the discourse along with the
linguistic signals to distinguish these procedures and the semantic features .
According to this notation , the sentence is analyzed inside the context it is
used in .Questions like “ How do the people use the language 7, How is the
interaction of the two sides ? «, “ What is their social status ?””,” How are the
implications implied in the sentence ?” , “ What pattern does their speech
follow in various conditions?” , and “ What is the function of the intonation
of the sentences ?” helps the researcher in the discourse analysis.

As an instance, the analysis of the following discourse in various conditions

goes as the following:

You are not going out .......ceeeeenn (S5 (g0 O ,m &

a) You must not go out ...... ( prohibiting )
ol ) e Sp O mbls ¥

b) No, you are not going out ......... (confirming)
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(ASE) e Ls)‘_gcibjjg"ﬁhdjc\.}

(g ) .. S ™ O §

d) You are not going out ! .......... (expressing surprise )

(gfo,vé'ju‘) ...... 6)&0),:145}5

e) (I’'m informing you) You are not going out ........ (stating)
(CJU\A.A) ...... d)ﬂd)&j(d)‘u\;ﬂ)&‘)

Ol 0T s demr o5 Gl ool Ll @ araly YU (g alex 0Lzl Low ol b

L] o

Therefore the analysis of the sentence above is dependent upon the condition

which it has occured in.
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The structure of a paragraph

A paragraph is a unit of thought . It is composed of one or a certain number
of sentences which develop a unique idea .A paragraph normally begins with
a topic sentence , a sentence which is the expression of the main idea of that
paragraph . The topic sentence is the essence of the information presented in
in the paragraph .It is ordinarily a generalization which is developed through
a few sentences presenting a certain idea.These sentences which bring about
causes, descriptions, instances, arguments, etc. are to support and develop
the topic sentence .

It is important to point out that just setting grammatically proper sentences
together does not necessarily create an appreciated paragraph. A favourite
proper paragraph, in fact always has specific properties.These properties are
coherence and unity.

Coherence is the first major characteristic of a good paragraph .Coherence,
by word means stick together.This property is achieved when the sentences in
the paragraph hold together.Every sentence is somehow tied to the prec-
eding and succeeding sentences of that paragraph. In a good paragraph, the
sentences are so accurately arranged that they can be reorganized into their
original form if they are scrambled.

Unity is the second major characteristic of a good paragraph.Unity, by word
means the arrangement of the components to form a whole.This property is
achieved when all the sentences in the paragraph serve to develop the topic
sentence; ie.every sentence in the paragraph contributes to the development
of the main idea which lays in the topic sentence.

In order to survey the mentioned subjects, consider the following paragraph.
Jack does not intend to continue his education for three reasons .First of all,
he has quite a poor family, and because he has three little sisters who go to
primary school, he believes that he ought to help his family financially. In the

second place, in case that he continued his education, his mother would be all
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alone to look after the little children and this itself might create many
troubles. Finally, a company has just offered him a suitable job with good
opportunities of promotion that would help his family to live a comfortable
life in future.Consequently, Jack is planning to take the job instead of going
on with his education.

The topic sentences in the paragraph above is: “Jack does not intend to
continue his education for three reasons. “This means that the paragraph
should focus on the development of the idea represented in this sentence.
Moreover,no other sentences,which do not contribute to the development of
this idea,are to exist in the paragraph.The topic sentence states three reasons
for Jack’s not intending to continue his education ,and the idea is developed
convincingly by the reasons expressed systematically through the sentences
holding together by the preceding and the succeeding ones . This shows that
this paragraph has coherence.On the other hand, all the sentences in the
paragraph, tying to the topic sentence , serve to express the reasons in order
to develop the main idea represented in it throughout the paragraph . Thus
the paragraph has unity.

Furthermore,there are words and expressions like*“first of all“,“in the second
place and “ finally “ which help to achieve cohesion in this paragraph .These
elements which help the sentences of the paragraph hold together are termed
“transitional words and expressions ‘; their function is to help to accomplish
coherence throughout the paragraph .

Finally, the last sentence which starts with“consequently®, states a conclusion
about the paragraph. The concluding sentence is usually based on the major
pieces of information represented throughout the paragraph.

According to what discussed above, it can be stated that a proper paragraph
has the following characteristics:

a - a clear topic sentence

b - a properly developed idea

¢ - coherence

d - unity

e - preferably a concluding statement
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Methods of organizing ideas in a paragraph

In order to organize ideas in a paragraph ,there are various methods by using
which , creating coherent and unified paragraphs becomes possible . Each of
these methods has its own properties and devices.Here seven frequently used
methods of paragraph development ;“narration®, “description®,“illustration”,

‘cause and effect’,’classification’,’comparison and contrast’, and’composite’

along with their characteristics and devices are introduced and discussed .
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Narrative Paragraphs

One method of organizing ideas in a paragraph is to order them according to
the time they take place. This kind of organizing ideas, ie . sequencing the
the occurance of the events according to time is called chronological order .
This method allows the reader to follow the events sequentially; according to
the time they happen .

Chronological method,a very commonly used technique in organizing ideas,
creates several opportunities to read passages in which specific events are
narrated . Typical instances of such passages are dairies, journals,newspaper
reports, history texts and biographies . Therefore, mastering the elements of
this method leads to understand such paragraphs efficiently.

To create coherence throughout a narrative paragraph , the use of specific
transitional words and expressions is particularly important . The most
common of these devices are as follows : now ; nowadays ; when ; while ;
latter ; before ; after ; since ; later ; next ; earlier ; former ; formerly ;
previously ; at last ; finally ; subsequently ; as ; in conclusion ; at the same
time ; first ; second ; etc .

The following sample paragraph represents a narration in which the events
are ordered sequentially .

Last month , some of my friends and I went on a trip to Ringam Lake . We
walked along the Simour River for eight hours until we reached the lake in
the evening. When we found a suitable site for our camp,it was almost dark
everywhere and we were frightened ; furthermore ,we felt hungry .First we
set up our tent and built a fire. Then we roasted some chickens over the fire.
They were quite delicious with our hot coffee.After the meal,we sat around
the fire and sang songs. Then we put out the fire and went into the tent .
Finally,we unrolled our sleeping bags and crowled into them.We felt warm
and safe there .

This paragraph narrates a trip to a lake . Pay close attention to the events

that are organized sequentially in accordance with the time they took place.
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Furthermore, notice to the use of the transitional words of “first”, “then”,
‘after’and’finally’by the help of which coherence is achieved convincingly

throughout the whole paragraph .
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Descriptive Paragraphs

The second method of organizing ideas in a paragraph is description .In this
method , the writer tries to describe a person , an object , a place or a scene
by focusing on its characteristics .Therefore the significant properties of the
object under discussion are emphasized in details .

Descriptive paragraphs usually follow the goal of impressing the readers by
the way they develop their ideas .One very popular way to achieve this goal
is the frequent use of various adjectives and adverbs to describe how the
concept under discussion is or how the event under discussion occurred .To
do so , proper adjectives or adverbs should be selected and studded in the
sentences abundantly , nevertheless , attention should be paid to avoid the

redundant use of these elements.It goes without saying that the role of such
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impressive words,when used properly,will lead to the increase of influence
on the readers’ emotions .

As mentioned before , descriptive paragraphs focus on details . Therefore, in
order to get the ideas developed throughout the paragraph perfectly, one
should pay close attention to the organization of the detailed information
utilized to describe the concept .

Coherence , in descriptive paragraphs , is achieved through a unique way in
addition to the transitional words and expressions . Like paragraphs of all
other types,transitional words and expressions help to achieve coherence in
descriptives , however , the most popular way to achieve this goal is the
repetition of the previously mentioned words in the paragraph . This
repetition , not only helps to keep the sentences of the paragraph interrelated,
but also helps to increase the impression on the reader who reads the
paragraph.

The following sample paragraph is a descriptive in which an idea has been
convincingly developed in details .

The people who live in large cities are very restless people . They seldom
really relax . They always do everything hurriedly . They walk fast , speak
rapidly , and eat hastily .They work long hours and sleep few hours . Time is
very important for the people who live in large cities . They frequently look
at their watches and are never unaware of the date . Laisure is a great luxary
for the people who live in large cities.

In this paragraph , the characteristics of the people residing in large cities are
emphasized .Here the idea of “restlessness® for these people is clearly stated
in the topic sentence and is developed through the sentences which come
after it . Each sentence focuses on the property of “restlessness” by
employing words such as “ hurriedly ”, “fast”, “rapidly”, and “hastily”.
Furthermore , the frequent repetition of the word “ they “ all through the
paragraph should be appreciated here . “ They “ refers to the people who
reside in large cities . This pronoun is repeated several times to keep the

paragraph coherent by keeping its sentences interrelated .
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Ilustrative Paragraphs

[lustration is the third method of organizing ideas in a paragraph . In this
method , explanations about the specific subject under discussion are given
through examples or pictures ; thus the use of clarifying methods , specially
exemplification is expected to be abundant here .

The structure of the paragraphs which are developed through the method of
illustration , follows a particular sequence of statement , explanation and
exemplification through which the point of view which is mentioned in the
topic sentence is developed . In order to achieve coherence , on the other
hand,illustrative paragraphs ,like descriptive method,employ both methods of
repetition of the previously mentioned words along with specific transitional
words and expressions , the most current of which are as follows :

as ,like ,as an example , for example , for instance , similar to ,the same as
The following sample paragraph is an illustration through which the idea
mentioned in the topic sentence is argued and developed in a sequence of

statement , explanation and exemplification .
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A wise man is tolerant . He always appreciates the ideas of other people . He
never objects to what they believe or what they like . Instead , he tries to
understand their opinions .For instance, Mr. Wilson loves modern things. He
likes watching scientific fictions .He enjoys new paintings .He owns a set of
furniture which is quite modern.A few people ,on the other hand ,do not like
modern things . They would rather watch old movies , and do not enjoy new
paintings . They prefer to have old furniture at home and live an old style of
life . Mr. Wilson never criticizes them for their way of thought . Instead , he
respects their opinions . He understands human nature well .

This paragraph is an example of illustration in which the idea of “tolerance”
is developed through a logical argument along with a sample person who
owns the related properties . The sentences succeeding the topic sentence
illustrate the idea through a sequence of statement and explanation which is
followed by an example to discuss the point of view and convince the
reader to agree with it . Coherence is achieved through the repetition of the
previously mentioned nouns — “ he “and “ they “in this paragraph — and a
relatively rare occurance of the transitional words and expressions — “ for
instance “ . However , it should be kept in mind that most of the times , a
paragraph of illustration,like a paragraph of description benefits repetition

rather than transitional words and expressions to establish coherence .
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Cause — Effect

A probably most frequently used method of organizing ideas in a paragraph
is the cause-effect method which is noticeably useful for college students as it
is often used at college level texts . In paragraphs developed through this
method , the topic sentence sets a cause and its effect . Accordingly , all the
sentences coming afterwards serve to argue and develop the effect resulted
by the cause in a logical — systematic way .

Understanding cause-effect paragraphs will help the reader to identify the
“what®, the “why*, and sometimes the “how" of a cause-effect relationship.
In such paragraphs, the reader should pay close attention to the relationship
among the sentences to determine the cause and its effect . When the cause
and its effect are identified , one will easily follow the line of the argument
through the paragraph . Otherwise , it will take a long time to figure out
such paragraphs .

The use of transitional words and expressions , the most current of which
are listed succeedingly,play an important role to establish interrelationship
among the sentences in the paragraph . These devices , whose presence
throughout the paragraph is relatively abundant , help the sentences hold
together and thus , dominate coherence in the paragraph .

The most popular transitional words and expressions used in cause-effect
method are : so , therefore , thus , hence , for this reason , accordingly , since,

due to , in conclusion , consequently , as a result , if , unless .
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Notice the following paragraph which is developed through cause-effect
method : Eighty two percent of the students who go to English speaking
countries to continue their education succeed because of their hard work .
Despite their eagerness, they do not know much English and besides,they do
not know how to go about learning it. Student life is not easy .Such students
have few friends and do not have many social opportunities . Neither their
parents nor their relatives can protect them from loneliness . Many of these
students suffer from homesickness ; as a result , loneliness is a more serious
problem than the language problem . Regardless of these difficulties ,
foreign students succeed in their studies because of their hard work .

The topic sentence of this paragraph presents a cause - hard work — and an
effect - success . The sentences which come afterwards develop this idea
through a reason — consequence relationship .Moreover ,the line of argument
is set up systematically through the sentences tied together by the help of

’

transitional words and expressions of “ because and “ as a result ”.

Finally ,all the sentences in the paragraph tie to the topic sentence

convincingly and focus on one point of view , ie . hard work and success .
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Classification

As mentioned before , a paragraph includes one or several sentences in order
to develop one idea . Moreover , the idea in the paragraph ,which is stated in
the topic sentence , should focus on merely one subject .When the subject to
develop is too large , it would be reasonable to divide it into the components
which compose it .In order to divide a subject into its components , a logical
method should be used to classify them into certain categories . The method
by which a subject is classified into its components is called classification
.Paragraphs of classification are developed in different ways as their subjects
can be classified into various components according to their similarities ,
differences ,or other characteristics .It should be kept in mind that since the
ideas in this method are arranged according to categories , classification
should have clear bases . In other words ,when a subject is classified , there
should be at least two categories of that subject ; otherwise ,

classificationcannot be carried out .
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While reading paragraphs of classification , the reader should pay attention to
the logical order through which certain characteristics are classified .
Understanding the structure of classification technique is helpful in reading
the paragraphs developed through this method effectively . Moreover , it is
helpful for taking notes from the texts one reads or listens to for it enables the
reader or the listener to get the main points of view of such texts .

The use of certain transitional words and expressions in paragraphs of
classification is almost abundant since the achievement of coherence in
such paragraphs essentially depends on these devices . Some of the most
common transitional words and expressions used in classification method are
as the following : main kinds of , fundamental , significant , according to ,
classify , divide , categorize , groups , primary , types , first , second , third ,
etc.

Notice the following paragraph which is developed through classification:We
often misunderstand athletes . They are not a separate race of people .They
seldom live alone . They do not withdraw from the society . They often
have good marriages , healthy children , vivid families , and happy
homes.However,athletes do have specific characteristics .First,they have
active and well trained bodies .Second , they are physically strong . And third
, they appreciate sports .

This sample paragraph is an example of classification . The first part
classifies athletes as normal human beings by introducing the common
characteristics that they share with other people .The second part ,on the
other hand ,enumerates distinctive characteristics that separates athletes from
ordinary people . Therefore , athletes in the first step are classified as normal
human beings , and in the second step , as athletes .

The use of transitional words and expressions of “first”,“second” , and “
third ” in this paragraph shows the order through which the idea has been
argued and developed.Furthermore,these devices serve to achieve
interrelation between the preceding and succeeding sentences which

finally leads to coherence in the paragraph .
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It goes without saying that where , by nature , coherence exists in a
paragraph,the overuse of transitional words and expressions is not only

unnecessary but also a solecize and should be avoided .

S 9 dwlio oK

5 amlie &S SIENL 55 el i Olele sl oy o ml 3 S
frdsn Lo b 53 Gt 5ol sl gline Blod I B 5 anglin . ol bl
ok 5 535 (pla3 Guts o )3 T Ols 350 slo Do plhe 5 e bl 0L
© dhezys i = b ol ekl sl a4 L se s Sl b Zals 0L L
LS e 25 Olejle g e ) 355 Sl ol 8L Ol sie

o 4 ol e > i DT By 50 Chd > BB 5 awlie S,
o ol Oph JEee SIELL K 5 WS e ek K 0L 4 T
2 by aly g e ke b 93 Obe s s Gla Ll i 4 Tbye LW
oy 25 s s 1y 6T Obe gla Sl s 5 Ay B1ESL 55 lie
b o) 5 ol SO LUl sy ol b dasyl 3 i)l sy bgye o5 i
S ol by gdialy Aoty Sew b T 51 S0 SIS 6,8 K Ku
5315 o 5 ol (5 ol 4 bgr e (gls ar Gl o By, $SGST 4 Ll e
LS GO 3 Dk e [ g 4

b g Lol ok e BB 5 anlie g5 & Shel s ol OT 53 8 15 O 8L &
A4S

1A 4 DMl ol gl ST oo S5 (25 8 Dppe 4 &S U (s an
C el O S b alal b gy ol S SG i Al S L b
OUT L S il s OS5 055 (oS Asd U ) s glianls Lol
i3 o OLES o 0313 OISTLL 5 O Oleys (i (785 L 1) 355 (Lol Cimpen
ST e eslial 35 (g alew &l 150 s g O3l 0L (sl OLT ol esdle
S e eslizal S sla iy 5l Sledbl Jsliys ji Sllse od 5 s

S o S e 056 sl 55 s Olusl dler 55 Jee glay s Jle (gl



o b Wt

T was o 0L s Glassis 4 b b 8 Jous 58 & 8 dgs 03, L T
ot S5 Slaosis 4 b A8 U b 8 e g Aol bt by b e
Ll ST Sl s s Oludl (bl ol Ole ol osli5 s cplb. S s
S b dher 4 1) b 4S5 4alS 4 1y Lalis Al e 45T At b 0Ll Lais
555 Ole ly odomy 5 S 0 sla ol Wil 5 oo s QL) Lo oS ol OT sme 4 g
S A B 4 Slam 6 By palm pas oole malg on Gl ply L S ol
o 0 2 pl 4 S (6l b aedST 1l 0Ll dab 3 g gl diteas atly BLO)
X,

Sl p S o a by sls Saligle Caldl S p s oS Ol OIS !
053 & oS s b Sl ol el Gla (5 s o3l il 53 Lo
035 Oy DI 3l eslial Gy b3l BLSSI (6015 505 w5550 (6 drslr 53,8 &5 2
4. Sl Sl "6 e ce\f)s “aadS Gl eslatal g 4l 5 el Cjb.ﬁ sl Sl
Glmos Blisla by okl (o 5 US4 BB 5 amlie Giass 0 55 )
Ll 03 ST ks St 5 Gulss elanys ) Jla (6 4y 5 ol

KO OGP P P &w,wm&ydudﬁ)ggbﬁfﬁa&yé
ol 03 Sl S5 0Ll L ST e s [ odd Ol e Ole g3 bl &S
dhacr Oy (Ko sl oM JUil sl S 5 5 Lo ST s D1 S50 Sl oS
Jle gl S o atie 55 1) OLEL 53 b eyl gb Olojle K o5 L
Ga0 Ols smse sl Cald g ekias LT S e & T WIS S
O "oy el b WIS 5 s e Sl 5 Sla malirss BLI )13,
sisl JUl sla oS 5 5 b aadS ol cul T Ole sle Sslss (g oS
S5l b ol (i Olojle g ok s CIlas Ole S35 L5 slaul 5 0sdle
S ke T o slize . il es ST 0Ll (s 450 |y o5 S 4 e
T R G A LTt | SO SR
N g sy cpll S Laf Sy g il ey L ooglite e
Sl b JlE 5 amlie gla OISl (S i Sl (655T 5L 4 p3Y o



VAV s 0L o s 5l Sl 0L 4 A

jwuﬁmbyféh4...>@L@Jw‘é))ﬂuau|a|j)aj‘yﬂ~\g_d&sbbd§:
Sl s i s b Cald e - o e B 93l (00 e BB

BN L) Ol sl

Comparison and Contrast

One of the major methods of organizing ideas in a paragraph is comparison
and contrast.Comparison is the statement of similarities and likenesses ,and
contrast is the statement of dissimilarities and differences.Using the method
of comparison and contrast,the writer aims to talk about the similarities and
the differences between two or several concepts under discussion .
Comparison and contrast are in deed two separate methods of organizing
ideas , but they are so closely related together that they are considered as
one method .In other words,one can merely discuss the similarities between
the concepts under discussion in one paragraph without pointing out their
differences , or on the contrary , he can focus on their differences ignoring
their similarities .However,the hybrid use of these two methods in just one
paragraph helps the writer to present a complete syllogism for the concept
under discussion .

Consider the following paragraph , in which the argument is developed
through comparison and contrast method .

All social animals need some form of communication to exchange their
information . Human beings communicate in various ways . One of these
ways is gesture . Men communicate approval by clapping their hands ,by
smiling ,or by saying “hurra” .They communicate disapproval by holding the
nose with the fingers , or by shaking the head . And they indicate the
direction by pointing towards a point . Similarly , lower forms of animals
also use different methods of communication . Bees , like human beings , live
in orderly communities . They communicate the location of food by carrying

odor samples back to the hive . They communicate the distance and the
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direction of the food by dancing . However ,the major difference in the
communication systems of man and other animals is the “word” .

Only man can combine sounds into words and words into sentences for
communication . That is , man alone can communicate complex ideas
Thus , social communities of higher and lower animals depend upon
communication . Nevertheless , only the human community has verbal
language .

This paragraph represents a number of similarities and differences that lay
between  the higher and the lower form of animals regarding
communication . The similarities include having a form of communication ,
and the differences include the use of word by human beings , but not the
lower forms of animals . Thus , both methods of comparison and contrast
have been combined in a hybrid status to develop the idea of
communication in higher and lower forms of animals .

One major point to notice in paragraphs of comparison and contrast is the
devices which establish coherence. Here, the transitional words and
expressions that are used to show the relationship among the sentences of
the paragraph are the clues to indicate the type of the method of
organization as well . For instance , “similarly” indicates the likenesses of
communication in the human community and other forms of animals

and “ however ” represents the differences . Therefore , the shift from
comparison to contrast method can be figured out clearly by the help of
these devices .

Some of the most popular words and expressions which are used to
achieve coherence in paragraphs of comparison are : similarly , likewise ,
correspondingly , the same as , in the same way , at the same rate as .

The most popular words and expressions used to achieve coherence in
paragraphs of contrast are : different from , otherwise , still , however ,
nevertheless , unlike , yet , on the contrary , although , while , on the other

hand .
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Composites

So far and in the previous sections , several methods of organizing ideas in
paragraphs have been introduced and discussed . Familiarity with these
methods of paragraph organization will help the readers to comprehend
what they read easily .However ,it should be kept in mind that paragraphs are
not written in order just to use a certain pattern of organization ; they are , in
deed , written for the purpose of conveying ideas as well .In order to
accomplish this goal and communicate the ideas effectively , each of these
methods serve a device to facilitate the task respectively .Therefore, in many
cases,not just one,but several methods of paragraph organization may be
employed in one or a number of paragraphs that make up a text to develop a
same idea . Such a paragraph or a text , in which more than one method of
organizing ideas is employed is called a composite .

While reading composite paragraphs or texts , one should concentrate on the

different methods of organizing ideas which are employed in them .He
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should also pay attention to the transitional words and expressions whose
function is to show the shift from one method of organization to the other in
addition to achieving coherence in the paragraph . Many of the college texts
include  paragraphs in which more than one method of paragraph
organization are employed . In fact ,readers should master the different
methods of organizing ideas in order to be able to read composite paragraphs
and texts efficiently .

Consider the following passage developed through a composite method : The
science of high frequency sound, called ultrasonics , is one of the newest
and most exciting techniques of the space age . The prefix “ultra® means
beyond and “ sonic “ means sound , so the word means beyond the range
of hearing . Ultrasonics is the process that enables the navy to detect
submarines,and the fishermen to detect schools of fish.Ultrasonics can be
used in many branches of science .

Penetrating flesh and bone harmlessly , ultrasonic waves are a subject of
research , the findings of which have contributed to medical science in
many ways . The ultrasonic process enables physicians and psychiastics to
make quick diagnosis . In contrast to the ten minutes that the X — ray
process demand , the ultrasonic process sends out echo patterns that can be
read within ten seconds .Unlike X- rays ,the ultrasonic process is not
dangerous and therefore , it can be administered to a patient repeatedly .
Doctors use ultrasonic devices to detect fatal heartbeats , to clean teeth , to
sterilize instruments , and to detect blood clots .

Similarly , ultrasonics contributes significantly to industrial technology .
Cleaning processes ,vegetable and fruit cultivation ,milk homogenization,
mechanical dishwashers ,barglar-alarm systems ,radio-television systems
and air purifiers have been revolutionalized utilizing this new method .
Within a very short time , ultrasonics will be as essential to human life as the
telephone is today .

This passage starts with a definition and proceeds to show the present and

the future of ultrasonics . There are many examples of the use of
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ultrasonics in this passage . There is also a discussion which is about the
differences between the ultrasonics and the X — ray . Furthermore , the
similarities between the uses of ultrasonics in medicine and industrial
technology are clearly mentioned . In short , in this composite text , the
methods of illustration ,contrast ,and comparison are used together .

As mentioned before , composite paragraphs and texts are very frequent in
college textbooks . Therefore , one should focus on the patterns of
organizing ideas which are employed in such paragraphs or texts . He
should also pay attention to the transitional words and expressions that are
used to establish coherence in the paragraph in order to figure out the
methods of organization employed to develop the argument through the

paragraph or the text .
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Writing letters SIS b
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Letter writing is one of the formal styles of the application of written
language in which the message of the writer is completely, yet concisely,

transferred to the reader .
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Writing letters follows two styles :

A — Informal , in which the writer transfers his/her message through a
procedure out of the current social publicities .

B — Formal , in which the writer transfers his/her message according to the

current social publicities .
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Every letter is composed of three seperate parts :

A- Address : This part includes of two smaller parts as “the sender’s”
and the “receiver’s” address .In formal letters both addresses are
printed while in informal ones , the “sender’s” address is normally
ignored .The sender’s address locates at the very left part of the top
of the letter , and the receiver’s address comes after it in the very
right side of the letter .

Note : The address is printed, down from the flat number,up to the city or

country.

S ST S e (e el 0> Sl (0 S — O
S 03358 o Jols 1y (Jlolas 5 S5 i 5 Sles i el s pdle
w4l Jyl Eew cﬁ&m):\)ryjrjsduﬁ&ﬂw)duM\Sﬂ\f

s oS BT Sl 5 o 3 sl

99 99

B - Text :Informal letters consist of three parts of “salutations”,”text”and
“farewell”in the text part while formal letters have merely the second and

third parts , having “salutations” briefly included in the second part .
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C — Signature : In this part of the letter , expressing respect , the writer of

the letter signs his/her name .
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Two sample types of informal and formal letters :
st s st st sfe sk sk sk sk st sk sk sk sk sk sk st sk sk skok sk skosk skoskokok

Informal DWW

¢,Dashen Lane,

Holbrook , New York
July A Yo yy

Dear Fred ,

Hi and I hope you are fine . I’'m missed you and your family, specially your
brother and your little sister a lot .

Yesterday , as soon as I received your letter , I went to the immigration office
to ask for the regulations of the residentship in the United States , as you had
asked me to . | made an appointment with the immigration officer for the
next week . He is supposed to tell me all the regulations in this regard when
he visits me .

I hope you can soon come here to start your business with me and we will
enjoy a happy life together .

Sincerely Yours,

Daniel
3k sk sk sk sk sk sk sk sk sk sk sl sl sl ske sk ske sk sk sk sk sk skosk sk sk sk sksk

Formal L)

A, Radford Ave,

London , England
\Y,Poplar St. ,

Los Angeles , California.
December AT | Y.\ Y

Sir :

Respecting your letter , our company wishes to have your regulations in the
field of commercial cooperations with the foreign companies . Having
complete folders in this respect will be of great pleasure .

Wishing you great success .
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Yours,
Terry M. Wattson
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\ - The Comma (,)

The comma ordinarily indicates a pause and a variation in the voice pitch

and is used where it is required by the structure of the sentence .

Va- A comma precedes and, but, or, nor, for, so and yet when they

link main clauses .

\b - Commas follow introductory elements such as adverbs, clauses,

long phrases , interjections , and transitional expressions .

\c - Commas separate items in a series including words , phrases ,

clauses and coordinate adjectives .

\d - Commas set off nonrestrictive clauses and phrases .

Ve - Commas set off parenthetical and miscellaneous elements such as

iems in dates , words used in direct address , and so on .

\f- Occassionally , a comma , although not called for by any of the

major principles already discussed , may be needed to prevent
misreading , however , do not use a comma :
I - to separate the subject from the verb , or the verb from its object.
IT - before or after a coordinating conjunction .
IIT - to set off words and short phrases , especially the introductory
phrases which are not parenthetical or that are very slightly so .
IV - to set off restrictive clauses and restrictive phrases .
V - before the first item or after the last item of a series including a

series of coordinate adjectives .
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Y - The Semicolon ( ;)

Ya - Use a semicolon between two main clauses that are not linked

by a coordinating conjunction like and , but , or, nor, and

for , or by the connectives so and yet .

Yb - Semicolon can substitute contrastive coordinating conjunctions.

Yc - Use a semicolon to separate a series of items which themselves

contain commas .

Yd- Do not use a semicolon between parts of unequal grammatical

rank,such as a clause and a phrase,or a main clause preceeding

a main clause .

Y - The Apostrophe ( ¢ )

Ya- Use an apostrophe to indicate the possessive case of nouns and

indefinite pronouns .

I - For singular nouns and indefinite pronouns, add the apostrophe

and s .
IT - For plural nouns ending in s , add only the apostrophe .

IIT- For compounds and word groups , add the apostrophe and s only

to the last word .

IV - To indicate individual ownership , add the apostrophe and s to

each of the names .

Yb - Use an apostrophe to mark omission in contracted words .
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Yc-  Use the apostrophe and s to form the plural of lower case letters

and of abbreviations followed by period .When needed to avoid
confusion,use the apostrophe and s to form the plural of capital

letters,of symbols ,and of abbreviations not followed by period.

Yd- Do not use the apostrophe with the possessive pronouns .

¢ - Quotation Mark (“ “)

¢a - Use quotation marks to set off all direct quotations ,some titles, and

words used in a special sense . Place other marks of punctuation in

proper relation to quotation marks .

¢b - Use double quotation marks to enclose just direct speech;use single

marks to enclose a quotation within a quotation .

¢c - Use quotation marks for minor titles , such as short stories , essays,

short poems , songs , and articles from periodicals .

¢d - Enclose words used in a special sense in quotation marks .

¢e - When using various marks of punctuation with quoted words ,

phrases,or sentences ,follow the conventions of American printers:
I-  Place the period and comma within the quotation marks .
IT- Place the colon and the semicolon outside the quotation marks .
IIT - Place the dash,the question mark,and the exclamation mark inside
the quotation marks when they apply only to the quoted matter ;

place them outside when they apply to the whole sentence .
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0 - The Period (.)

oa- Use the period to mark the end of a declarative sentence ,a mildly

imperative sentence and an indirect question .

ob - Use the period with most abbreviations .

oc - Use three spaced periods ( ... ) as the ellipsis mark to indicate the

omission of one or more words within a quoted passage .

1 - The Parantheses ( )

Use the parantheses to set off a parenthetical , supplementary,or an
illustrative matter , and to enclose figures or letters when wused for

enumeration within a sentence .

Y- The Exclamation Mark (!)

Va-  Use the exclamation mark after an emphatic interjection (eg. oh)

and after a phrase, aclause, or asentence to express a high

degree of surprise , incredulity , or other strong emotions .

Yb- Do not use a comma or a period after an exclamation mark .

A - The Colon (:)

Aa - Use the colon as a formal introducer to call attention to what follows
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and as a mark of separation in scriptural and time references and

between certain titles and subtitles .

Ab - The colon may direct attention to an explanation or summary,a series

an appositive , or a quotation .

- The Dash (-)

d4a- Use the dash to mark a sudden break in thought or a change in tone.

4b -  Use the dash to indicate an unfinished or interrupted statement and

flatering speech in dialogue .

dc- Use the dash between an introductory series and the main part of

the sentences that explain or amplifies the series .

4d -  Use the dash to set off a parenthetical element for emphasis .

\+ - Question Mark (?)

V+a- Use the question mark after direct questions .

\+b- Do not use a comma or a period after a question mark .

\\ - The Brackets [ |

Use the brackets to set off editorial corrections or explanations in
quoted matter and , when necessary , to replace parantheses within

parantheses .
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\Y- TheSlash (/)

Use the slash when needed to indicate options .

\Y- The Hyphen ( _)

\Ya - Hyphenate words chiefly to express the ideas of a unit .

\Yb - Use the hyphen to join two or more words that serve as a single

adjective before a noun .

\Y¥c -  Use the hyphen to avoid ambiguity , or an awkward combination

of letters , or syllables between a prefix or a suffix and a root .
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